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LISTING OF PROGRAM LINPREDX 
100.00  PROGRAM 
200.02 6 PROGRAM: LINPREDX 

400.02 $ REVISED BY J.P. MOORE 2 / 2 7 / 9 1  

600.00 8 REFERENCE: "APPLIED REGRESSION ANALYSIS". 2ND EDITION 

300.00 r m m A r n M m  BY J.P. MOORE 1/25/89 

500.02 $ REVISED BY 3.P. MOORE 3/19/91 

700.00 
800.00 
900.00 

1 0 0 0 . 0 0  
1100.00 
1200.00 

1400.02 
1500.02 
1600.02 
1700.02 
1800.02 
1900.02 
2000.02 
2100.00 
2200.00 
2300.00  
2400.00 
2500.00 
2600.00 

2800.00 
2900.00 
3OO0.00 
3 1 0 0 . 0 0  
3200.00 
3300.00  
3400 .00  
3500.  OD 
3600.00 
3700. OD 
3800.00 
3900.00 

1300 .00  

2700. oa 

m o o .  OD 
4 1  6 0 . 0 0  

4300.00 
4400 .00  
4500.00 
46OO.00 

42QO. 00 

4700 + 00 

4900.00 
5000.00 
51 00.02 
5200.02 
5300.02 
5400.02 
5Sb0.02 
5600.03  
5700.03  
58O0.00 
5900 .00  
6000.00  
6100.00 

4aoo. 00 

6 2 0 0 . 0 0  
6201 * 00 

~ 

$ N.R. DRAPER 6 H. SMITH 
s JOHN WILEY S S O W ,  1981, PP 47-51 

JOURNAL ON 
NEWPAGE 
TYPE "PROGRAM: LINPREDX" 
ASKNAME ( "BAY NUMBER?" , "BAY = " ) 
ASK( "ENTER NAME O f  DATE LIST",  "HENCEFORTH DATELIST IS " ) 
ASK( "NAME OF MEAN THICKNESS DATASET?" 9 "HENCEFORTH DATASET IS " 1 

8 GET DATASET ON OCDAT 
N = I N f S (  l,NOELS(DATASET)) 
TABULATE N.DATELIST,DAfASET 
ASK (**ENTER NO. OF DESIRED DATA", "SELECT = 
DATES = DATELIST(SELECT) 
Y = DAfASE?(SELECT) 
ASK ( "ENTER VALUE OF MINIMUM THICKNESS ( YO) " ? "YO= " ) 
OAYNO = DAYNUMBER( DATES) 
X = ( DAYNO-DAYNO( 1) ) 1365  
NDF = NOELS(Y) - 2 
EXECUTE LlNREQNl 

6 -T95 =-ONE-S IDED T TABLE VALUE AT .95 WITH NDF DEG OF FREEDOM 

t EQUATION 1.7.7. PAGE 49 
T95 = AB$(TPROBINVERSE( .SS,NOF)) 

XOHATYR = - ( Y O - B O ) / B X  
X 1  (XOHAIYR-XBAR) " G / t  I - Q )  
X2 = (T95*S/Bl)*SQRT( l [XDHATYR-XBAR)**2/SXX)+( l - G ) / N ) / (  1-G) 

$ EQUATION 1 - 7.6,  PAGE 49 
X9OYR = XOHATYR+XI+X2, XOHAfYR+Xl-XZ 

$ XU90YR = UPPER BOUND OF 90% CONFIDENCE INTERVAL ABOUT XO 

$ XLSOYR = LOWER BOUND OF 90% CONFIDENCE INTERVAL ABOUT XO 
XWOYR = MAX(X9OYR) 

XL9UYR = M I N ( X 9 O Y R )  
XOHATNO = DAYNO( 1) + fNTPART(XOHATYR'365) 

XU90NO = DAYNO(1) + INTPART(XU90YR*365) 

XLSONO = DAYNO(1) + INTPART(XL90YR*365> 
XL90 = MAKEDATE(XLSONO:DATE3NsDAYNUMBER,A6BRAMER) 

XOHAT = MAKEDATE(XOHATNO:DATEIN=DAYNUMBER,AB%RAMER) 
XU90 = MAKEDATE(XU90NO:DATEIN=~AY~~M6ER,AB3RAMER) 

TABULATE BAY,DATES,X,Y 
TYPE " Y O  ="YO 
TYPE "XU90 ="XU90 
TYPE "XOHAT ="XOHAT 
TYPE "XL90 ="XL90 
TYPE "T95 ='IT95 
fYPE "0  =**q 
SPACE( 2) 
TYPE "INVERSE ESTIMATION IS NOT OF MUCH PRACTICAL VALUE" 

TYPE "THE SLOPE (81) IS SIGNIFICANI, WHICH IMPLIES THAT" 
TYPE "P SHOULD BE SMALLER THAN ABOUT 0 . 2 0 .  WHEN G IS MUCH" 
TYPE "LARGER THAN THIS. THE RESULTS ARE MEANINGLESS." 

$TABULATE Q,XI,X2 
SPACE ( 2) 
DATE ; TfME 
JOURNAL OFF 
END 

TYPE i * ~ ~ ~ ~ ~ ~  THE REGRESSION rs WELL DETERMINED, THAT IS," 

$TABULATE BO,BI,SSQ,SXX,S,XBAR 



LISTIND OF PROGRAM LINPREDY 
100 PROGRAM 
200 * 
300 
400 8 
500 * 
600 0 
700 $ 
800 
900 

1000 
I100 
1200 
1300 
1400 8 
1500 
1600 
1700 
1800 
i 900 
2000 
2100 
2200 
2300 
2400 
2500  
2600 
2700 $ 
2800 
2900 $ 
3000 
3100 
3200 
3300 4 
3400 
3500 S 
3600 
3700 $ 
3800 
3900 
4000 
4100 
4200 8 
4300 0 
4400 
4500 
4600 
4700 
4800 
4900 
SO00 
51 00 

PROGRAM: LINPREDY 
PROGRAMMED-BY J:P. MOORE 1/27/89 

REVISED BY J.P. MOORE 4 / 0 9 / 9 1  
REPERENCE: "APPLIED REQRESSION ANALYSIS", 2ND EDITION 

N.R. DRAPER E H. SMITH 
JOHN m L E Y  6 SONS, 1981, PP 28-31, 129-133 

JOURNAL ON 
NEWPAGE 
TYPE "PROGRAM: LINPREDY" 
ASKNAME("BAY NUMBER?" "BAY= ") 
ASK("ENTER NAME OF D A ~  LIST" "HENCEFORTH DATELXST IS 1 1 )  

ASK ( "NAME OF MEAN THTCKNESS D ~ T A S E T ? ~ ~ ,  "HENCEFORTH DATASET rs 66 

GET DATASET ON OCDAT 
N = INTS( 1, NOELS(DATASET) ) 
TABULATE N,DATELIST,DATASET 
ASK ("ENTER NO. OF DESIRED DATA", "SELECT = ' '1 
DATES = UATELIST(SELECT) 
Y = DA7ASETISELECT) 
ASKNAME( "ENTER DATE OF MINIMUM THICKNESS ( X O )  ","XO= " )  
DAYNO 5 DAYNUMBER( DATES) 

XONO = DAYNUMSER( X O )  

EXECUTE LrNREGNf 

T95 = ABS(TPROBINVERSE(.9S,NDF>, 
G = t95**2/(61/SQRT{SSP/SXX))**Z 
YOHAT = BO + Bl'XOYR 

SDYOHAT = STD ERROR OF ESTIMATE (SEE) OF MEAN THXCKNESS 
SDYOHAT = ABS(SQRT(VARY0HAT)) 
YU90 = UPPER BOUND OF 90% CONFIDENCE INTERVAL ABOUT YO 
YU90 = YOHAT + T95'SDYOHAT 
YL90 = 1OWER BOUND OF 90% CONFIUENCE INTERVAL ABOUT Y O  

TABULATE BAY,  DATES X ,  Y 
TYPE "XO = " X O  

TABULATE BO.Bl,SSQ,S,XBAR 
TABULATE VARYOHA1,SDYOHAT 

SPACE ( 2 1 

X = (DAYNO-DAYNO( 1) 11365 

XOYR = {XONO - DAYNO(l f ) /365 
NOF = NOELS(Y) - 2 

T 9 5  = ONE-SIDED 7 TABLE VALUE AT .95 WITH NDF DEG OF FREEDOM 

EQUATfON 1 . 7 - 7 ,  PAGE 49 

VARYOHAT = SSP*((I/N) + (XOYR-XBAR)""2 /SUM(IX-XBAR) . *2) )  

YL90 = YOHAT - T9S"SDYOHAT 

TABULATE Yt90,YOHAT,YUSO,T95 

TYPE "f-RATIO =I' 1 / G  

TYPE "WHEREAS AN F - R A T I O  OF 1.0 OR GREATER PROVIDES CONFIDENCE" 
TYPE " I N  THE SLOPE AND INTERCEPT OF THE HISTORICAL DATA. THE" 
TYPE "F-RATIO SHOULD BE 4 OR 5 I F  THE REGRESSfON EOUATION IS TO" 
TYPE "BE USED TO PREDICT FUTURE VALUES. TO HAVE A HIGH DEGREE OF" 
TYPE "CONFIDENCE XN THE PREDICTED VALUE, THE RATIO SHOULD BE AT" 
TYPE "LEAST a cm 9.1' 

5200 
5300 
5400 
5401 END 

SPACE ( 2 )  
DATE i TIME 
JOURNAt OFF 



OUTPUTS; 
BO = Y INTERCEPT OF PITTED STRAIGHT LfNE 
61 = SLOPE OF FITTED LINE 

L I S T I N G  OF PROGRAM LINREQNI 
1 . 0  PROGRAM 
1.1 $ PROGRAM: LINREGNl 
2.0 5 THIS PROGRAM PERFORMS LINEAR REGRESSION 
3 . 0  $ REFERENCE: " APPLIED LINEAR REGRESSION'' , 2ND EDITION 

5 . 0  8 JOHN WILEY 6 SONS,  1981 
6.0 $ PROGRAMMED BY 3.P.MOORE 1 /26 /89  
7 .0  8 INPUTS: 
8 .0  8 X = INDEPENDENT VARIABLE ARRAY 
9 . 0  $ Y DEPENDENT VARIABLE ARRAY 

4 . 0  $ BY N.R. DRAPER 6 H. SMITH 

10.0 t NDF = NUMBER OF UEGREES OF FREEDOM 
11.0 $ 
12.0 6 
13.0 S 
14.0 t 
15.0 s YHAT = PREDICTED VALUES OF Y 
16.0 6 SUB0 = STD ERROR OF ESTIMATE OF THE INTERCEPT 00 
1 7 - 0  8 SDBl = STD ERROR OF ESTIMATE OF THE SLOPE 61 

1 9 . 0  $ CALCULATIONS 
20.0 N = NOELS(X) 
21 .0  SUMY = SUMCY) 
22.0 YBAR = SUMY/N 
23.0 SUMX = SUM(X) 
24.0 XBAR = SUMX/(N) 
25.0 SUMXY = SUM(X*Y) 
26 .0  SUMXSQ = SUY(XC*2) 

18.0 

27.0 SXY = SUMXY - SUMX"SUMY/N 
28.0 SXX = SUM(X**Z) - (SUM(X))"'2/N 
29.0 SYY = SUM(Y"2) - (SUM(Y))**2/N 
31.0 BO = YBAR-%1^XBAR 
30 .0  B1 = SXY/SXX 

32.0 SSBlBO = (SXY**2 ) /SXX 
32.5 t SSQ = MEAN SQUARED ERROR (MSE) 
33.0 SSQ = ABS(SYY - SSBIBO)/(N-E) 
33.2 8 S = ROOT MEAN $QUARE ERROR (RMSE) 
33.5 S = SQRT(SSQ) 
33.7 $ SDBl = STD ERROR OF ESTIMATE (SEE) OF SLOPE B1 
34.0 SDBl = SQRT(SSO/SXX) 
34 .5  S SOB0 = STD ERROR OF ESTIMATE {SEE) OF INTERCEPT BO 
35.0 SDBO = SQRT( (SSQ*SUMXSQ) / (N*SXX) ) 
36.0 YHAT = BO + BL'X 

39.0 END 

37.0 RES YHAT-Y 
38.0 RSQ = SUM((YHAT - YBAR)**P)/SUM((Y - YBAR)'*2) 



PROGRAM: LINPREDX 
BAY NUMBER? 9d 
ENTER NAME OF DATE L I S T  d a t e 9 d  
NAME OF MEAN THICKNESS DATASET? rnd9d 

DATE9D 

1 2 / 4 / 8 6  
121  19/68 
6 / 2 6 / 8 9  
9/ 13/89 

4 /24 /90  
2 / 2 3 / 9 1  

n * * n * * * w  

2 / a / 9 0  

M09D 
n r w s t n n w  

1071.51 
1021.39 
1054.42 
1020.43 
1009.96  
1002.12 

992.55 

ENTER NO. OF DESIRED OATA 4 ,5 ,6 ,7  
ENTER VALUE OF MINIMUM THICKNESS ( Y O )  700 

BAY DATES X Y 
* n *  ******a * w * n t = w m  t r s t m ~ w n  

9D 9 / 1 3 / 8 9  0 1020.43 
2/8/90 . 4 0 5 4 7 9  1009.96 

2 / 2 3 / 9 1  1 .44658 992 .55  
4 /24 /90  ,610959 1002.12 

YO = 7 0 0  
XU90 = Jan 23, 2027 
XOHAT = Aug 23, 2006 
XLSO = O c t  21,  2000 
T95 = 2 . 9 1 9 9 9  
G = .308671 

INVERSE ESTIMATION IS NOT OF MUCH PRACTICAL VALUE 
UNLESS THE REGRESSfON I S  WELL DETERMINED, THAT IS, 

B SHOULD BE SMALLER THAN ABOUT 0.20. WHEN 0 IS MUCH 
LARGER THAN THIS, THE RESULTS ARE MEANINGLESS. 

THE SLOPE (B1) IS SIQNfFfCANT, WHICH IMPLIES THAT 

A p r i l  9, 1991  
3:36 PM 

Q F  
2 
P 



_-  

PROGRAM: LINPREDX 
BAY NUMBER? 9 d  
ENTER NAME O F  DATE L I S T  d a t e 9 d  
NAME OF MEAN THICKNESS DATASET? md9d 

N DATE90 MD9D 

1 12 /4 /86  1071.51  
2 12 /19 /88  1021.39 
3 6 / 2 6 / 8 9  1054.42 
4 9 /13 /89  1020.43 
5 2 /8 /90  1009.96 
6 4 /24 /90  1002.12 
7 2 /23 /91  992.55 

I a n n n t a i *  ~ n n n r % ~  

ENTER NO. OF DESIRED DATA 4 , 5 , 6 , 7  
ENTER VALUE OF MINIMUM THICKNESS ( Y O )  736  

BAY DATES X Y 

90 9/13/89 0 1020.43 
2 /8 /90  .405479 1009.96 
4 / 2 4 / 9 0  .610959 1002.12 
2 / 2 3 / 9 1  1.44658 9 9 2 . 5 5  

* * -  * * * t * * t .  * ~ * * t * * *  ~ * * t n t t  

YO = 736 
XU90 = Sap 29, 2022 
XOHAT = Sep 21, 2004 
XL90 = Jul 2 9 ,  1999 
T9S = 2.91999 

= .308671 

INVERSE ESTIMATION IS NOT O F  MUCH PRACTICAL VALUE 
UNLESS THE REGRESSION IS WELL DETERMINED, THAT fS, 
THE SLOPE (B1) IS SIGNIFICANT, WHICH IMPLIES THAT 
G SHOULD BE SMALLER THAN ABOUT 0.20. WHEN G IS MUCH 
LARGER THAN THIS.  THE RESULTS ARE MEANINGLESS. 

A p r i l  9,  1991 
3:37 PM 



PROGRAM: LINPREDX 
BAY NUMBER? lla 
ENTER NAME OF DATE L I S T  datella 
NAME OF MEAN THXCKNESS DATASET? mella 

N 

1 
2 
3 
4 
5 
6 
7 
8 
9 
10 
11 
12 

n u  
DATE1 1A ME1 1 A  

12/2/86 891.47 
4/29/87 918.66 

8 1  1 / 8 7  9 2 2 . 0 9  
9/10/07 905.2 
7/12/88 912.97 
10/08/88 888.22 
6/26/89 881.34 
9/13/89 891.56 

.I******* I*"*** 

5 /1 /87  904.64 

2 / 8 / 9 0  875.34 

2/23/91 844.50 
4/24/90 $58.04 

ENTER NO. OF DESIRED DATA lnts(2,12) 
ENTER VALUE OF MINIMUM THTCKNESS (YO)  700 

BAY DATES X Y 

1 l A  4/29/07 0 918.66 
s/ita7 ,00547945 904.64 

* f f  **1111118 X T W * * * * 8 * 1  I***** 

8/1/87 -257534 922.09 
9/10/87 .367123 905.2 
7/12/88 1.20548 912.97 
10/08/88 1.44658 888.22 

9/13/89 2,37808 891.56 
2/8/90 2.78356 875.34 
4/24/90 2.98904 858.04 

6/26/89 2.16164 881.34 

2/23/91 3.82466 844.58 

YO = 700 
XU90 = NOV 15, 2003 
XOHAT = Jan 7 ,  2000 
XL90 = Sep 2 3 ,  1997 
T95 = 1.83311 
G = .0658598 

INVERSE ESTIMATION IS NOT OF MUCH PRACTICAL VALUE 
UNLESS THE REGRESSION IS WELL DETERMINED, THAT I S ,  
THE SLOPE (81) I S  SIGNIFICANT, WHICH IMPLIES THAT 
G SHOULD BE SMALLER THAN ABOUT 0 .20 .  WHEN G IS MUCH 
LARGER THAN THIS,  THE RESULTS ARE MEANINGLESS. 

A p r i l  9, 1991 
3:38  Ptd 



PROGRAM: LINPREDX 
BAY NUMBER? lla 
ENTER NAME OF OATE L I S T  date'lla 
NAME O F  MEAN THICKNESS DATASET? m e l l a  

1 12/2/86 
2 4/29/87 
3 5 / 1 / 8 7  

5 9/10/87 
6 7/12/88 
7 10 /08 /88  
8 6126/89 
9 9 / 1 3 / 8 9  
10 2/8/90 
1 1  4/24/90 
12 2 / 2 3 / 9 1  

4 a/1/a7 

891.47 
918.66 
904 * 64 
922.09 
905.2 
912.97 
8 8 8 . 2 2  
881.34 
891 5 6  
8 7 5 . 3 4  

844.58  
858.04 

ENTER NO. OF DESIRED DATA ints(2,lZ) 
ENTER VALUE OF MINIMUM THICKNESS ( Y O )  736 

11A 4 / 2 9 / 8 7  
5 / 1 / 8 7  
8 /  1 /87 
9/ia/a7 
7/12/aa 

6/26/a9 
10/08/88 

9 f  1 3 / 8 9  
2/8/90 
4 / 2 4 / 9 0  
2/23/91 

X 
n r n n n n n s x m  

0 
.a0547945 
.257534 
.367123 

1.20548 
1 . 4 4 6 5 8  
2.16164 
2.37808 
2.78356 
2.98904 
3.82466 

Y *.****  
918.66 
904 64 
9 2 2 . 0 9  
9 0 5 . 2  

8 8 8 . 2 2  
881 - 34  
891.56  

858.04 
844.58 

912.97 

a75.34 

YO = 736 
XU90 = Jan 22, 2001 
XOHAT = Dec 3 ,  1997 
XL90 = Jan 22, 1996 
T95 = 1.83311 
G = .0658598 

TNVERSE ESTIMATION IS NOT OF MUCH PRACTICAL VALUE 
UNLESS-TWE REGRESSION IS WELL DETERMINED. THAT IS, 
THE SLOPE ( B 1 )  IS SIGNIFICANT, WHICH IMPLIES THAT 
G SHOULD BE SMALLER THAN ABOUT 0.20. WHEN G IS MUCH 
LARGER -THAN THIS, THE RESULTS ARE MEANINGLESS. 

A p r i l  9, 1991 
3 : 3 8  PM 



PROGRAM: LINPREDX 
BAY NUMBER? I l c  t o p  3 
ENTER NAME OF DATE LIST datellc 
NAME OF MEAN THICKNESS DATASET? m d l l c t  

N 

1 
2 
3 
4 
5 
6 
7 
8 
9 
10 

* x  
DATE1 1 C MD11 CT 

m t * * * * * *  * w t * * * t  

5 /1 /87  1046 
8 / 1 / 8 7  1108.6  
9/10/87 1079.12 
7/12/88 1045.38 
io/oa/aB 1008.86 
6 /26 /89  1015.78 
9 /13 /89  1005 
2/8/90 978.45 
4/24/90 974.9 
3 / 4 / 9 1  981.68 

ENTER NO. OF DESIRED DATA ints(1,IO) 
ENTER VALUE OF MINIMUM THICKNESS ( Y O )  700 

X Y 

0 1046 
* * * * * * * *  X I * * * * *  

. 252055  1 1  0 8 . 6  

.361644 1079.12 
1 .2  1045.38 

2 ,15616 1015.78 
1 .4411 iooa.86 

2.3726 I005 
2 * 77808 978 45 

3.84384 981.68 
2.98356 974.9 

Y O  = 7 0 0  
XU90 = Sep 2, 2005 
XOHAT = Sep 28, 1999 

T95 = 1.85955 
G = .126885 

XL90 = NoV 2 9 ,  1996 

INVERSE ESTIMATION IS NOT OF MUCH PRACTICAL VALUE 
UNLESS THE REGRESSION IS WELL DETERMINED, THAT IS, 
THE SLOPE (811 IS SIQNIFICANT, WHICH IMPLIES THAT 
G SHOULD BE SMALLER THAN ABOUT 0.20. WHEN G IS MUCH 
LARGER THAN THIS,  THE RESULTS ARE MEANINGLESS. 

A p r i l  9, 1991 
3:39  PM 



PROGRAM: LINPREDX 
BAY NUMBER? l l c  t o p  3 
ENTER NAME OF DATE L I S T  d a t c l l c  
NAME OF MEAN THICKNESS DATASET? mdllct 

N DATEllC MDlICT 
et * . x n * * * * n  t n n * * n n  

1 5/1/8,7 
2 8 / 1 / 8 7  
3 9 /10 /87  
4 7 / 1 2 / 8 8  
5 10/08/88 
6 6 /26/89  
7 9 / 1 3 / 8 9  
8 2 / 8 / 9 0  
9 4 /24 /90  

10  3 /4 /91  

1046 
1108 .6  
1079.12 
1045.38 
1008.86 
f015.78 
1005 

9 7 4 . 9  
981.68 

978 .45  

ENTER NO. OF DESIRED DATA ints(1,lO) 
ENTER VALUE OF MINIMUM THICKNESS ( Y O )  736 

BAY DATES 
n n * * n i t  t n ~ * * t s n  

l l C  TOP 5 / 1 / 8 7  
8 / 1 / 8 7  
91 10187 
7 t 1 2 r 8 a  
i o / w a a  
6 / 2 6 / 8 9  
9 / 1 3 / 8 9  
2 /8 /90  
4 /24 /90  
3 / 4 / 9 1  

YO = 736 
XU90 = Nov 1 ,  2003 
XOHAT = J u l  22 ,  1998 
XLSO = Jan 13 ,  1996 
T95 = 1 .85955  
G = .126885 

X 
* * * n n * + *  

0 

1 . 2  
1 .4411  
2 .15616  
2 . 3 7 2 6  

2 .98356  
3 .84384  

. 2 5 2 0 5 5  

.361644 

2 t 77808 

Y 

1046 
1108 .6  

1045.38 
1008.86 

1005 

* * ~ * * n f  

1079.12 

1015.78 

978 .45  
974 .9  
981 .68  

INVERSE ESTIMATION IS NOT O F  MUCH PRACTICAL VALUE 
UNLESS THE REGRESSION IS WELL DETERMINED, THAT IS,  
THE SLOPE (81) I S  SIGNIFICANT. WHICH IMPLIES THAT 
G SHOULD BE SMALLER THAN ABOUT 0.20.  WHEN d IS MUCH 
LARGER THAN THIS. THE RESULTS ARE MEANINGLESS. 

A p r i l  9, 1991 
3 : 4 0  PM 



PROGRAM: LINPREDX 
BAY-NUMBER? i i C  b o t  4 
ENTER NAME OF DATE L I S T  datellc 
NAME OF MEAN THICKNESS OATASET? mdllcb 

4 7 /12 /aa  906.05  

7 9/13/89 890.71 

5 10/08 /88  897 
6 6/26/89 876.75 

8 2 / 8 / 9 0  869 
9 4 / 2 4 / 9 0  863 .29  

10 3 / 6 / 9 1  857.54 

ENTER NO. OF OESIRED DATA ints( 1,lO) 
ENTER VALUE OF MINIMUM THICKNESS ( Y O )  700 

BAY OATES X Y 

1 1 C  BOT 5 / 1 / 8 7  0 9 1 6 . 7 9  
8 /1 /87  .252055 953.64 

7/12/88 1.2 906. OS 
10/08/88 1 . 4 4 1 1  897 

9/13/89 2.3726 890.71  

4/24/90 2.98356 863.29 

*****I* n * X * w * f m  X X * * % W W I  I=**** 

9/1o/a7 .361644 915.71 

6 /26 /89  2.15616 876.75 

2 i a m  2.77808 869 

3 / 4 / 9 1  3.84384 057.54  

YO 
XU90 
XOHA 
XL90 
195 
G 

= 700 
= Apr 22,  2002 
= Yay 24, 1998 
= Apr 1, 1996 
= 1 . 8 5 9 5 5  
F .oa64979 

INVERSE ESTIMATION SS NOT OF MUCH PRACTICAL VALUE 
UNLESS THE REGRESSION IS WELL DETERMINED, THAT IS, 
THE SLOPE (B1)  IS SIGNIFICANT, WHICH IMPLIES THAT 
G SHOULD BE SMALLER THAN ABOUT 0 . 2 0 .  WHEN 0 IS MUCH 
LARGER THAN THIS, THE RESULTS ARE MEANINGLESS. 

A p r i l  9 ,  1991 
3 : 4 0  PM 



PROGRAM: LXNPREOX 
BAY NUMBER? llc b o t  4 
ENTER NAME OF DATE L I S T  datellc 
NAME OF MEAN THICKNESS DATASET? mdllcb 

N 
t n  

1 
2 
3 
4 
5 
6 
7 
8 
9 
10 

DATE 11C 
* x * * * w x *  

5.1 1 f a 7  
6/1/87 
9/10/87 
7/12/88 
10/08/88 
6 / z w a g  
9 13/89 
2 / 8 / 9 0  
4 124 190 
3 / 4 / 9 1  

tdDl1CB 
I X W I L *  

916.79 
953.64 
915.71 
906.05 
897 
876.75 
890.71 
869 
863.29 
857.54 

ENTER NO. OF DESIRED DATA fnts(1,lO) 
ENTER VALUE OF MINIMUM THICKNESS (YO) 736 

BAY DATES 
* . * x * t t *  * * t t f * * n  

11C BOT 5/1/87 
6/1/87 
9/10/87 
7 /12 /88  
10 108 188 
6/26/89 
9f 13/89 
2/8/90 
4/24/90 
3/4/91 

YO = 736 
XU90 = Nov 13, 1999 
XOHA'F = Sep 1, 1996 
XL90 = Nov 29, 1994 
T9S = 1.85955 
0 = 60864979 

X 
* * * n e t * *  

0 
.252055  
361644 

1.2 
1.4411 
2.15616 
2.3726 
2.77808 
2.98356 
3.84384 

Y 

916.79 
953.64 
915.71 
906.05 
897 
876.75 
890,71 
869 
863.29 
857.54 

* * t * n n  

INVERSE ESTIMATION IS NOT O F  MUCH PRACTICAL VALUE 
UNLESS THE REGRESSION I S  WELL DETERMINED, THAT I S ,  
THE SLOPE (51) IS SIGNIFICANT, WHICH IMPLIES THAT 
G SHOULD BE SMALLER THAN ABOUT 0 . 2 0 .  WHEN G IS MUCH 
LARGER THAN THIS,  THE RESULTS ARE MEANINGLESS. 

A p r i l  9, 1991 
3 : 4 1  PU 



PROGRAM: LINPREDX 
BAY NUMBER? 13a 
ENTER NAME O F  RATE LIST datelda 
NAME OF MEAN THICKNESS DATASET? m d l 3 a  

N DATE13A MDl3A 

I 11/15/86 919.08  
2 12 /17 /88  9 0 5 . 2 7  

4 9/13/89 882.98  

6 3 / 2 8 / 9 0  852.84 
7 4 / 2 4 / 9 0  855.63 
8 2/23/91 854.51 

t * . r n * * * ' l *  X * * X X I  

3 6/26/89 w 2 . a  

5 2/a/90 859.04 

ENTER NO. OF DESIRED DATA i n t S ( 2 . 8 )  
ENTER VALUE OF MINIMUM THICKNESS ( Y O )  700 

BAY DATES 

13A 12/17 /88  
.).* r t * * * . X * *  

6 / 2 6 / 8 9  
9/13/89 
2 / 8 / 9 0  
3 / 2 8 / 9 0  
4 / 2 4 / 9 0  
2/23/91 

X Y 

.523288 882.84 

.739726 882.98  
1 .14521 859.04 

* t = m * * t *  * * * * a *  

0 9Q5.27 

1 * 27671 852.84 
1 * 35068 855-  63 
2.1863 854.51 

YO = 700 

XOHAT = Aug 24. 1996 
XL90 = 3un 29, 1994 
T95 = 2.01504 
0 = .224199 

xu90 = Aug 25,  2002 

INVERSE ESTIMATION IS NOT O f  MUCH PRACTICAL VALUE 
UNLESS THE REGRESSION IS WELL DETERMINED, THAT XS, 
THE SLOPE (B1) IS SIGNIFICANT WHICH IMPLIES THAT 
(3 SHOULD BE SMALLER THAN ABOU 0 . 2 0 .  WHEN G IS MUCH 
LARGER THAN WIS, W E  RESULTS ARE MEANINGLESS. 

A p r i l  9, 1991 
3:43 PM 

B 
t 



PROGRAM: LINPREDX 
BAY NUMBER? 13a 
ENTER NAME OF DATE LXST datel3a 
NAME OF MEAN THICKNESS DATASET? mdl3a 

N DATEl3A 

1 1 1 / 1 5 / 8 6  
2 12/17/88  
3 6 / 2 6 / 8 9  
4 9/13/89 
5 2 / 8 / 9 0  

7 4 / 2 4 / 9 0  
8 2 /23 /91  

rn ******" .  

6 3 / 2 8 / 9 0  

MDl3A 

919.08 
9 0 5 . 2 7  
882 .84  

n m * w * *  

8 8 2 . 9 8  
8 5 9 . 0 4  
852.84 
855 .63  
854.51  

ENTER NO. OF DESIRED DATA i n t s ( 2 , S )  
ENTER VALUE OF MrNIMUbi THICKNESS ( Y O )  736 

BAY DATES X Y 
S I L X X * * .  * * * * * L R ~  **I*** 

1 3 A  1 2 / 1 7 / 8 8  0 9 0 5 . 2 7  

9 / 1 3 / 8 9  ,739726 882 .96  
2 / 8 / 9 0  1.14521 8 5 9 . 0 4  

6/26/89 -523288 882.84 

3/2a/90  1.27671 852.84  
4 / 2 4 / 9 0  1.35068 855 .63  
2/23/91  2 .1863 854 .51  

yo = 736 
XU90 = Oec 25 ,  1999 
XOHAT = Mar 30,  1995 
X i 9 0  = Jul l S ,  1993 
T95 = 2.01504 
G = .224199 

INVERSE ESTIMATION IS NOT OF MUCH PRACTXCAL VALUE 
UNLESS THE REGRESSION IS WELL DETERMINED, THAT IS, 
THE SLOPE ( B 1 )  IS S I G N I F I C A N T .  WHICH IMPLIES THAT 
G SHOULD BE SMALLER THAN ABOUT 0 . 2 0 .  
LARGER THAN THIS, THE RESULTS ARE MEANINQLESS. 

WHEN G IS MUCH 

A p r i l  9 ,  1991 
3:43  P M  



PROGRAM: LINPREDX 
BAY NUMBER? 17a bot 4 
ENTER NAME OF DATE L I S T  d a t e l 7 a  
NAME OF MEAN THICKNESS DATASET? mdl7ab 

N DATE17A 

1 12/17/88 
2 6/26/89 
3 9/13/89 
4 2/8/90 
5 4/24/90 
6 2/23/91 

I * * I R * t r l  
HDI 7AB 

957.36 
964.5 
955.18 
937.5 
939.61 
934.71 

* * R t ' W *  

ENTER NO. OF DESIRED DATA ints(l,6) 
ENTER VALUE OF MINIMUM THICKNESS ( Y O )  700 

BAY DATES X Y 

17A BOT 12/17/88 0 957.36 
6/26/89 .S23288 964.5 
9/13/89 .739726 955.18 
2/8/90 1.14521 937.5 

2/23/91 2 .1863  9 3 4 . 7 1  

* * * * * e x  w * w w n * t w  w * * t w t * x  * * * x = m  

4/24/90 1.35068 939.61 

YO = 7 0 0  
XU90 = Mar 1 4 ,  2047 
XOHAT = Nov 25, 2007 
XL90 = Aug 1. 2000 

G = .471204 
1 9 5  = 2,13182 

INVERSE ESTIMATION IS NOT OF MUCH PRACTICAL VALUE 
UNLESS THE REGRESSION IS WELL DETERMINED, THAT IS, 
THE SLOPE (81) IS SIGNIFICANT, WHICH IMPLIES THAT 

LARGER THAN THIS,  THE RESULTS ARE MEANINGLESS. 
G SHOULD BE SMALLER THAN ABOUT 0 . 2 0 .  WHEN G IS MUCH 

A p r i l  9 ,  1991 
3 : 4 4  PM 

I--- 
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PROGRAM: LINPREDX 
BAY NUMBER? 17a b o t  4 
ENTER NAME O F  DATE L I S T  detel’la 
NAME OF MEAN THICKNESS DATASET? mdl7ab 

N DATE17A 
1 n n - m n n * t  

1 12 /17 /88  
2 6 /26/89 
3 9/13/89 
4 2 / 8 / 9 0  
S 4 / 2 4 / 9 0  
6 2/23/91 

MD17AB 
s * n * n t  

957.36 
964.5 
955.18 
9 3 7 . 5  
939.61  
9 3 4 . 7 1  

ENTER NO. OF DESIRED DATA i n  t s  ( 1 , 6 )  
ENTER VALUE OF MINIMUM THLCKNESS ( Y O )  736 

BAY DATES X Y 

1 7 A  BOT 12/17 /88  0 957.36  

9 / 1 3 / 8 9  .739726 955.18 
2/8/90 ’1.14521 9 3 7 . 5  
4 f  2 4 / 9 0  1.35068 9 3 9 . 6 1  
2 / 2 3 / 9 1  2.1863 934.7.1 

t * * t m n n  n t * i * * * *  ~ * * * t * n t  **-IIX 

6 /26 /89  .s232sa. 964. s 

YO = 736 
XU90 = Nov 24, 2038 
XOHA? = Apr 18, 2005 
XL90 = Jan 15, 1999 
T95 = 2.13182 
G = .471204 

INVERSE ESTfMATION IS NOT O F  MUCH PRACTICAL VALUE - - - . . - - - 
UNLESS THE REQRESSION IS WELL RETERMINED, THAT rs, 
THE SLOPE (81) IS SIGNfFICANT, WHICH TMPLIES THAT 
G SHOULD BE SMALLER THAN ABOUT 0 . 2 0 .  WHEN 0 IS MUCH 
LARGER THAN THIS,  THE RESULTS ARE MEANINQLESS. 

April 9, 1991 
3 : 4 5  PM 



PROGRAM: LINPREOX 
BAY NUMBER? 17d 
ENTER NAME O F  DATE L IST  datel’ld 
NAME OF MEAN THICKNESS DATASET? mel7d 

N 

1 
2 
3 
4 
5 
6 
7 

9 
10 
11 
12 

* *  

a 

RATE1 7D 
w * * * a w * ~  

12/2/86 

5 / 1 / 8 7  
8/1/07 

2 / 1 7 / 8 7  

9 / i o i a 7  
711 2/88 
i o / o $ / 8 a  
6 / 2 6 / 8 9  
9 /  13 /89  
2 / 8 / 9 0  
4 /  26190 
2 /23 /91  

ME1 7 0  

903.51 
9 2 2 e 1 6  
895.07 
890.69 
895.28 
8 7 7 . 9 3  
862.22  
056.84  
847.13 
833.37  
826 - 8 
825 27 

* * * t . l  

ENTER NO. OF DESXRED DATA iots(2,12) 
ENTER VALUE OF MINTMUM THfCKNESS (YO)  700 

17D 2 / 1 7 / 8 7  0 922.16 
51  1/87 . 2  895.07  
8 / 1 / 8 7  .452055 890.69  
9 /10 /87  .561644 895.28 
7 /12 /88  1.4 8 7 7 . 9 3  
10/08/88 1.6411 862 .22  
6 / 2 6 / 8 9  2.35616 856.84 
9 /13 /89  2.5726 847.13  
2 / 8 / 9 0  2.97808 833.37 
4/24/90 3.18356 826 .8  
2/23/91 4.01918 825.27 

YO = 700 
XU90 = Jun 7, 1997 
XOHAT = Feb 20, 1996 
XL90 = Mar 6 ,  1995 
T95 = 1 . 8 3 3 1 1  
0 = .0224649 

INVERSE ESTIMATION IS NOT O F  MUCH PRACTICAL VALUE 

THE SLOPE (B1) IS SIGNIFICANT, WHICH IMPLIES THAT 
B SHOULD BE SMALLER THAN ABOUT 0 . 2 0 .  WHEN G IS MUCH 

UNLESS THE REGRESSION rs WELL DETERMINED. THAT IS, 

LARGER THAN T H I S ,  THE RESULTS ARE MEANINGLESS. 

A p r i l  9 ,  1991 
3:45 PM 



PROGRAM; LINPREDX 
BAY NUMBER? 17d 
ENTER NAME OF DATE L I S T  d a t a l 7 d  
NAME OF MEAN THICKNESS DATASET? me17d 

N 

1 
2 
3 
4 
5 
6 
7 
8 
9 
10 
1 1  
12 

*I 
DATE1 70 

a * n = n * * t  

12/2/86 
2/17/87 
51 1/67 
8/1/87 
9/10/87 
7 1  12/88 
10/08/88 
6/26/89 

2 / 8 / 9 0  
4/24/90 
2/23/91 

9/13/89 

ME1 70 
t i * * * .  

903.51 
922.16 
895.07 
890.69 
895.28 

862.22 
856.84 
847.13 
833.37 
826.8 
825.27 

a n .  93 

ENTER NO. OF DESIRE0 DATA ints(2,12) 
ENTER VALUE OF MINIMUM THICKNESS ( Y O )  736 

%AY DATES 
**f “ . * l * * X *  

im 2/17 /87  
5 1  t 187 
8/1/87 
9/  101 87 
7/12/88 
1 U/08/88 
6/26/89 

2 / 8 / 9 0  
4/24/90 
2/23/91 

9/13 /a9  

. 2  

.452055 

.561644 
1.4 

2.35616 
2.5726 
2.97808 
3.18356 

1.6411 

4.01918 

Y 
*I**** 

922.16 
895.07 
890.69 
895.28 
877.93 
862.22 

847.13 
833.37 
826.8 
825.27 

8 5 6 .  a4 

YO = 736 
XU90 = Aug 6, 1995 
XOHAT = Jul 28, 1994 
XL90 = O c t  22, 1993 
T95 = 1.83311 
G = .0224649 

INVERSE ESTTMATION I S  NOT OF MUCH P R A C T I C A L  VALUE 
UNLESS THE REGRESSION IS WELL DETERMXNED. THAT IS, 

G SHOULD BE SMALLER THAN ABOUT 0.20. WHEN G IS MUCH 
LARGER THAN THIS, THE RESULTS ARE MEANINGLESS. 

THE SLOPE (81) IS SIGNIFICANT, WHICH IMPLTES THAT 

4pril 9, 1991 
3:46 PA( 



PROGRAM: LINPREDX 
BAY NUMBER? 19a 
ENTER NAME OF DATE L I S T  d a t e l 9 a  
NAME OF MEAN THICKNESS DATASET? m e l 9 a  

N 

1 
2 
3 
4 
5 
6 
7 
8 
9 
10 
1 1  
12 

n t  
DATE 19A 

m * * t n * n *  

121 2 186 
2/17/87 
5/1/87 
8/1/87 
91 10/87 
7/12/88 

6/26/89 
io/oa/8a 

91 13/89  
2 /a /90  
4/24/90 
2/23/91 

MElSA 
n t i i t s t  

8 7 0 . 2 2  
883.64 
872.93 

848.57 

858.6 
058.29 

836.91 
828.82 
82s. 36 

807.8 
816.67 

807.78 

ENTER NO. OF DESIRED UATA ints(2,12) 
ENTER VALUE O F  MINIMUM THICKNESS ( Y O )  700 

BAY DATES 

19A 2 /17 /87  
+ a x  t t * * = w n n  

S/I / 8 7  

9/1Q/87 

1 0 1 0 8 / 8 0  
6 / 2 6 / 8 9  
9/13/89 

4/24/90 
2/23/91 

8 / 1 / 8 7  

7/12/88 

2/8/90 

X 
f * ~ v * i n t  

0 
.2 
.452055 
,561544 

1-4 
1.6411 
2.35616 
2.5726 
2.97808 

4.01918 
3 ,18356  

Y 

883.64 
872.93 
858.6 

848.57 
836.91 

XIXII*I 

858.29 

a28.82 
825.36 
8 0 7 . 7 8  
807.8 
816.67 

YO = 700 
XU90 = Sep 7,  1998 
XOHAT = Aug 27. 1996 
XL90 = Apr 24, 1995 
T 9 5  = 1.83311 
G = 0421587 

INVERSE ESTIMATION IS NOT OF MUCH PRACTICAL VALUE 
UNLESS THE REGRESSION IS WELL DETERMINED, THAT IS, 
THE SLOPE (61) IS SIGNIFICANT, WHICH IMPLIES THAT 
G SHOULD BE SMALLER THAN ABOUT 0 . 2 0 .  WHEN G rs MUCH 
LARGER THAN THIS, THE RESULTS ARE MEANINGLESS- 

A p r i l  9 ,  1991 
3:46 PM 



PROGRAM: LINPREDX 
BAY NUMBER? 19a 
ENTER NAME OF DATE L I S T  datcl9a 
NAME OF MEAN THICKNESS DATASET? mel9a 

N DATEISA ME19A 
* a  I X * ~ * * * *  * * a x x *  

1 
2 
3 
4 
5 
6 
7 
8 
9 

1 0  
1 1  
12 

12/2/86 8 7 0 . 2 2  
2 /17 /67  883.64 
5 /1 /a7  872.93 
8 /1 /87  858.6 
9/I0/87 8 5 8 . 2 9  
7 /12 /68  840 .57  
10/08/88 836.91 
6/26/89 828.82 

z 1 8 m  6 0 7 . 7 8  
9 /13 /89  825.36 

4 /24 /90  007 .8  
2 /23 /91  816.67 

ENTER NO. OF DESIRED DATA l n t s ( 2 , 1 2 )  
ENTER VALUE OF MINIMUM THICKNESS ( Y O )  736 

BAY DATES x Y 

1 9 A  2 /17 /87  O 883 .64  
5/1/87 . 2  872 .93  
8 / 1 / 8 7  .45205S 858.6 

f n a  X X I I X I ~ * *  ~ * x * * x x =  * t * i * ~  

9110487 
7 / 1 2 / 8 8  

6 / 26 189 
9/ 13 /69  
2 /8 /90  

2 /23 /91  

I 010a18a 

4/2a/90 

+561644 8SB.29 
1 . 4  848.57 
1.6411 836.91 
2.35616 8 2 8 . 8 2  
2.5726 8 2 5 . 3 6  
2.97808 807.78 

4.01918 816.67 
3.18356 807.8 

YO = 736 
XU90 = tdar 9 ,  1996 
XOHAT = Aug 31, 1994 
XL90 = Aug 26, 1993 
T95 = 1.83311 
G = ,0421587 

INVERSE ESTIMATION IS NOT OF MUCH PRACTICAL VALUE 
UNLESS THE REGRESSION IS WELL DETERMINED, THAT TS, 
THE SLOPE (81) IS SIGNIFICANT, WHICH IMPLIES THAT 
0 SHOULD 8E SMALLER THAN ABOUT 0.20. WHEN G IS MUCH 
LARGER THAN THIS, THE RESULTS ARE MEANINGLESS. 

April 9 ,  1991 
3:47  PM 



PROGRAM: LINPREDX 
B A Y  NUMBER? 19b 
ENTER NAME OF DATE LIST datel9b 
NAME OF MEAN THICKNESS DATASET? mdl9b 

1 12 /2 /86  8 8 0 . ~ 4  
2 5 /1 /87  8 9 7 . 6 3  
3 8/1/87 SSz.ii 
4 9 /10 /87  8437.6 
5 7 /12 /88  863.98 
6 10/08/88 856.41 
7 6 /26 /89  852.55 
8 9/13/89 854.94 
9 2 / 8 / 9 0  8 4 0 . 6 7  

i o  4 / 2 4 / 9 0  839.1 
11 2/23/91 852.53 

ENTER NO. OF DESIRED DATA intsI2,Il) 
ENTER VALUE OF MINIMUM THXCKNESS ( Y O )  700 

BAY DATES X Y 
*I* * = X I * - X I  n * * t n * * n  ***a** 

1 9 6 .  5 / 1 / 8 7  0 8 9 7 . 6 3  
8 f  1 /87 * 252055 892.21  
9 / 1 0 / 8 7  -351644 887.6 
7 / 1 2 / 8 8  1 . 2  863.98 
1 0 / 0 8 / 8 8  
6 /26 /89  
9 / 1 3 / 8 9  
2 / 8 / 9 0  
4 /24/90 
2 / 2 3 / 9 1  

YO = 700  
XU90 = O c t  28, 
XOHAT = Mar 28, 
XL90 = Jun 6 ,  
T95 = 1.85955 
G = .110445 

. 1 . 4 4 1 1  856.41  

2 .3726 854.94 
2.77808 840.67 

2.15616 852.55 

2.98356 839 .1  
3.81918 852.53 

2005  
2000 
1997 

INVERSE ESTIMATION IS NOT OF MUCH PRACTICAL VALUE 

a SHOULD BE SMALLER THAN ABOUT 0 . 2 0 .  WHEN 0 IS MUCH 
LARGER THAN THIS. THE RESULTS ARE MEANINGLESS. 

UNLESS THE REGRESSION I S  WELL DETERMINED, THAT IS, 
THE SLOPE (B1)  IS SSGNIFICANT, WHICH IMPLIES THAT 

A p r i l  9, I 9 9 1  
3:48 PM 



PROGRAM: LINPREDX 
8 A Y  NUMBER? 19b 
ENTER NAME OF DATE L IST  datel9b 
NAME OF MEAN THICKNESS DATASET? mdl9b 

N 

1 
2 
3 
4 
5 
6 
7 
8 
9 
10 
I1 

* *  DATE 19B 
w f * t * . * n *  

12 / 2'/ 86 
5 /  1 / a 7  
8/1/87 

7/12/aa 

2 / 8 / 9 0  

9/ 1O/87 

10/08/88 
6/26/89 
9/13/89 

4 /  24/90 
2/23/91 

MD19B 

880.84 
8 9 7 . 6 3  

807.6 
863.98 
856.41 
852.55 
854.94 

839.1 
852.53 

*I**** 

892.21 

8 4 0 . 6 7  

ENTER NO. OF DESIRED DATA ints(2,ll) 
ENTER VALUE O F  MINIMUM THICKNESS ( Y O )  736 

B A Y  DATES 

19B 5/1/87 
8/1/87 
9 / 1 0 / 8 7  

10/08/88 
6/26/89 
9/13/89 
2/8/90 
4 / 2 4 / 9 0  
2/23/91 

f * *  I****=** 

7/12/aa 

X 
x ~ x n * ~ n *  

0 
. 252055  
I361644 

1.2 
1.4411 
2.15616 
2.3726 
2. rima 
2 98356 
3.81918 

Y 

897.63 
892.21 

856.41 
8 5 2 -  55 
854.94 

839.1 
852 53 

* ; * n * f  

8 8 7 . 6  
863.98 

840.67 

Y O  = 736 
XU90 = Feb 2 4 ,  2002 
XOHAT = Oct 13, 1997 
XL90 = J u l  31, 1995 
T95 = 1.85955 
G = .I10445 

INVERSE ESTIMATION rs NOT OF MUCH PRACTICAL VALUE 
UNLESS THE REGRESSION IS WELL DETERMINEO, THAT IS, 
THE SLOPE (81) IS SIGNIFICANT, WHICH IMPLIES THAT 
G SHOULD BE SMALLER THAN ABOUT 0 . 2 0 .  
LARGER THAN THIS, THE RESULTS ARE MEANINGLESS. 

WHEN G IS MUCH 

April 9, 1991 
3:48 PM 



PROGRAM: LINPREOX 
BAY NUMBER? 19c 
ENTER NAME OF DATE L IST  date19c 
NAME OF MEAN THICKNESS DATASET? mel9c 

N 

1 
2 
3 
4 
5 
6 
7 
8 
9 

10 
I f  

I. 
DATE1 9C 

..I***** 

12 /2 /86  
5 /1 /87  
8 / 1 / 8 7  
9 / 1 0 / 8 7  
7 /12 /88  
10 /08 /88  
6 /26 /89  
9 /13 /89  
2 / 8 / 9 0  
4 / 2 4 / 9 0  
2/23/91 

ME19C 

866,02  
9 0 0 . 5 1  
8 8 8 . 1 6  
888.31 
873.46 
8 5 6 . 2 7  
845 

830 - 51 
822.52 
842.8 

I***** 

a44.7 

ENTER NU. OF DESIRED DATA intsl2,ll) 
ENTER VALUE OF MINIMUM THICKNESS ( Y O )  7 0 0  

BAY DATES X 

19C 5 / 1 / 8 7  0 
nnw * I I * L * * * =  * t n w * ~ * n  

81 1 /87  . 2 5 2 0 5 5  
9/10/87 .361604 
7 /12 /88  1 . 2  
10/08/88 1.4411 
6 / 2 6 / 8 9  2.15616 

2/8/90 2.77808 
4 / 2 4 / 9 0  2 . 9 8 3 5 6  
2 /23 /91  3.81918 

3/13/89 2.3726 

YO = 700 
XU90 = Sep 16, 2000 
XOHAT = Jun 2 ,  1997 
XL90 = J u l  2 4 ,  1995 
T95 = 1.85955 
G = .0790156 

Y 
n * a x n n  

900, SI 
888.16 
888.31 
873.46 
856.27 
845 
844.7  
830.51 
822.52 
842.8 

INVERSE ESTIMATION IS NOT O F  MUCH PRACTICAL VALUE 
UNLESS THE REGRESSION fS WELL DETERMINED. THAT IS, 
THE SLOPE ( B l )  IS SIGNIFICANT, WHICH IMPLIES THAT 
0 SHOULD BE SMALLER THAN ABOUT 0.20. WHEN a IS MUCH 
LARDER THAN THIS, THE RESULTS ARE MEANINGLESS. 

A p r i l  9 ,  1991 
3:49 PM 



PROGRAM: LINPREDX 
BAY NUMBER? 19c 
ENTER NAME QF DATE L I S T  d a t e l 9 c  
NAME OF MEAN THICKNESS DATASET? meX9c 

N ' DATE19C 

1 12/2 /86  
2 5 /1 /87  
3 8 /1 /87  
4 9110187 
5 7/12/88 
6 . 1 0 1 0 8 l 8 8  
7 6 / 2 6 / 8 9  
8 9/13/89 

= I  n * * * n * * *  
MEl9C 

866.02 
900.51 
888.16 
888.31 
873.46 
856.27 
845 
844.7  

* * l W * t  

9 2 /8 /90  830 .51  
10 4 /24 /90  822.52 
11 2/23/91 8 4 2 . 8  

ENTER NO. OF DESIRED DATA ints(2,ll) 
ENTER VALUE OF MINIMUM THICKNESS (YO)  736 

BAY DATES 
* a *  I R X I ~ * * * ;  

19C 5 / 1 / 8 7  
8 /1 /87  
9 /  10187 
7 /12 /88  

6 /26 /89  

2/8/90 
4 1  24/90 
2 /23 /91  

101 081 a8 

9 / 1 3 / a 9  

X 
I X * * * * * X  

0 
.252055  
.361644 

1 . 2  
1.4411 
2,15616 
2.3726 
2.77808 
2.98356 
3.81918 

Y 
* * * X t l  

900.51 
888.16  
888.31 
873 .46  
856.27 
845 
844 .7  
8 3 0 . 5 1  
822.52 
842.8 

YO = 736 
XU90 = Feb 2 ,  1998 
XOHAT = Jul 1 3 ,  1995 
XL90 = Jan 29, 1994 
f 9 5  1.85955 
0 = .0790156 

INVERSE ESTIMATION IS NOT OF MUCH PRACTICAL VALUE 
UNLESS THE REGRESSION IS WELL DETERMINED, THAT IS, 
THE SLOPE ( 8 1 )  IS SIGNIFICANT, WHICH IMPLIES THAT 

LARGER THAN THIS,  THE RESULTS ARE MEANINGLESS. 
SHOULD BE SMALLER THAN ABOUT 0 . 2 0 .  WHEN G I S  MUCH 

A p r i l  9 ,  1991 
3:49 Pbi 

r 
E 



PROQRAM: LINPREDX 
B A Y  NUMBER?. S/SI/d12 
ENTER NAME O F  DATE L IST  date5112 
NAME OF MEAN THICKNESS DATASET? mf5112 

N 

1 
2 
3 
4 
5 
6 
7 
8 
9 

I 
DATE5112 blF5112 
* * I X * R X ~  n * * n * *  

11/01/87 759.49  
7 /12 /88  7 5 1 . 2 1  
10/08/88 753 .41  
6 /26 /89  751 .28  
9 /13 /89  757 .24  
2 / 8 / 9 0  743.03 
3 /28 /90  744.97 
4 /25 /90  745.35 
2 / 2 3 / 9 1  741.56 

ENTER NO. OF DESIRED DATA i n t a ( X , 9 )  
ENTER VALUE OF MINIMUM THICKNESS ( Y O )  670 

B A Y  DATES 
= x * x r * * n  * * t * * * n *  

5/511012 11/01/87 
7 /12 /88  
10 /08 /88  
6) 26/89 
9/13/89 
2 / 8 / 9 0  
3 /28 /90  
4 / 2 5 / 9 0  
2 /  23/91 

Y O  = 6 7 0  
XU90 = Dac 20,  2013 
XOHAT = Mar 19, 2005 
XL90 = Feb 2, 2000 
T95 = 1.89458 
G = .235277 

X Y 
n w t * t * * n  * * ~ - I x  

0 759.49 
-69589 751.21  
,936986 753 .41  

1 * 65205 751 + 28 
I .  86849 757.24 
2.27.397 743.03 

2 .48219 745.35 
3.31507 741.56 

2.40548 744 .97  

XNVERSE ESTIMATION IS NOT OF MUCH PRACTICAL VALUE 
UNLESS THE REGRESSION IS WELL DETERMINED, THAT IS, 
THE SLOPE (61) IS SIGNIFICANT, WHICH IMPLIES THAT 
a SHOULD BE SMALLER THAN ABOUT 0 .20 .  WHEN G IS MUCH 
LARGER THAN THIS, THE RESULTS ARE MEANINGLESS. 

March 20, 1991 
4:58 PM 



PROGRAM: LINPREDY 
BAY NUMBER? 9d 
ENTER NAME O f  DATE LIST date9d 
NAME O F  MEAN THICKNESS DATASET? md9d 

MDSD 
* * * * W W X  

1071.51 
1021 39 
1054.42  
1026.43 
1009.96 
1002.12 

992.55 

ENTER NO. OF DESIRED DATA intr(4,7) 
ENTER DATE OF MINIMUM THICKNESS ( X O )  6/29/94 

BAY RATES X Y 

90 9/13/09 0 1020.43 
* * *  * * * * * * *  * * * * * * * *  **.**** 

2 / 8 / 9 0  .do5479 1009.96 
4 /26 /90  -610959 1002.12 
2 /23 /91  1.44658 992.55 

XO = 6/29/94 

YL90 YOHAT YU90 f 9  5 
X X . * = U X  * * a n * *  ne***** * * & * * * *  
884.078 927.94 971-801 2.91999 

F-RATIQ = 3.23969 

WHEREAS AN F-RATIO OF 1.0 OR GREATER PROVIDES CONFIDENCE 

F-RATIO SfiOUtO BE 4 OR 5 I F  THE REQRESSXON EQUATfON IS TO 
I N  THE SLOPE AND JNTERCEPT OF THE HISTORICAL DATA, THE 

BE USED TO PREDICT FUTURE VALUES. TO HAVE A HIGH DEGREE OF 
CONFIDENCE IN THE PREDfCTED VALUE, W E  RATIO SHOULD BE AT 
LEAST 8 OR 9. 

A p r i l  10 ,  1991 
2 : 2 0  PY 



PROGRAM: LINPREDY 
BAY NUMBER? lla 
ENTER NAME OF DATE LIST datella 
NAME O F  MEAN THICKNESS DATASET? mella 

N 

1 
2 
3 
4 
5 
6 
7 
8 
9 

10 
1 1  
12 

t *  
DATE1 1 A  

*.I****** 

12/2/86 

5 / 1 / 8 7  
8/1/87 

7/12/88 
l0/08/88 
6 /26 /89  
9/13/89 
2/8/90 
4 /24 /90  
2 /23 /91  

4/29/87 

91 1 0187 

MEllA 
* u t t w n  

891.47  
918 .66  
9 0 4 . 6 4  

905.2 
912.97 
888.22 
881.34 
891.56 
875.34 
858.04 
844.58 

922.09 

ENTER NO. OF DESIRED DATA lntsf 2,121 
ENTER DATE OF MXNIMUM THICKNESS (XO)  6/29/94 

X 
*nf******= 

0 
.00547945 
,257534 
367123 

1.20548 
1 - 44658 
2.16164 
2.37808 

2.9a904 
2 .78356 

3.82466 

Y 
***e** 

918.66 
904 + 64 
922 4 09 
905 .2  
912.97 
888.22 

891.56 
875.34 
858. D4 

881.34 

a44.58 

XO = 6/29/94 

Yt90 YOHAT YU90 T95  
*****-I* * n * n * t p  n * t n t u *  ~ w * a * n *  

769.772 795.062 820.351 1.83311 

F-RATIO = 15-1838 

WHEREAS AN F - R A T I O  DF 

F-RATIO SHOULD BE 4 OR 5 IF THE REGRESSLON EQUATION IS TO 

CONFIDENCE IN THE PREDICTED VALUE, THE R A T I O  SHOULD BE AT 

1 . 0  OR GREATER PROVIDES CONFIDENCE 
IN THE SLOPE AND INTERCEPT OF THE HISTORICAL DATA, THE 

BE USED TO PREDICT FUTURE VALUES. 

LEAST 8 OR 9. 

TO HAVE A HIGH DEGREE OF 

A p r i l  10, 1991 
2:21 PM 



PROGRAM: LINPREDY 
BAY NUMBER? l l c  t o p  3 
ENTER NAME OF DATE LfST d a t e l l c  
NAME O F  MEAN THICKNESS DATASET? mdllct 

N 

1 
2 
3 
4 
5 
6 
7 
8 
9 

10 

t t  
DATE1 IC \.****.** 

5 /1 /87  
8 /1 /87  
9 /10 /87  
7/12/88 
10 /08 /88  
6 /26 /89  
91 13/89 
2 / 8 / 9 0  
4 /24/90 
3 / 4 / 9 1  

MDllCT 
* * t * w w n  

1046 
1108.6 
1079,12 
1045.38 
1008.86 
1015.78 
1005 
978.45 
9 7 4 . 9  
981 0 68 

ENTER NO. OF DESIRED DATA ints(1,lO) 
EWER DATE OF MINIMUM THICKNESS (XO)  6 /29 /94  

BAY DATES X Y 

11C TOP 5 / 1 / 8 7  0 1046 
* ' I R I * R *  * t * ~ t m * *  * t t n * t * *  * * r = t t t  

8 / 1 / 8 7  .252055 1 1 0 8 , 6  
9 /10 /87  .361644 1079.12 
7 / 1 2 / 8 8  1.2 1045.36 
10/08/88 1 .4611 1008.86 
6 /26 /89  2.15616 101s. 78 

4 /24 /90  2.98356 974.9 
3 /4 /91  3 84304 981.68 

XO = 6/29/94 

'iL90 YOHAT YU90 T9S 
w x * i * * n  n w * t t w w  * * w t w * n  * * t n * t t  

799.31s 859.527 919.738 1.8~955 

F-RATIO = 7.88116 

WHEREAS AN F-RATIO OF 1 . 0  OR GREATER PROVXDES CONFIDENCE 
IN THE SLOPE AND INTERCEPT OF THE HISTDRTCAI- .DATA. THF ~ --..--... .., ...- 
F - R A T I O  SHOULD BE 4 OR 5 IF-THE REGRESSION EQUATION IS TO 
BE USE0 TO PREDICT FUTURE VALUES. 
CONFIDENCE I N  THE PREDICTED VALUE, THE RATIO SHOULD BE AT 

TO HAVE A HIOH DEGREE UF 

LEAST a OR 9. 

A p r i l  10, 1991 
2:40 PAI 

7$- 
I 
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PROGRAM: LINPREDY 
BAY NUMBER? Ilc b o t t o m  4 
ENTER NAME OF DATE LIST datallc 
NAME O F  MEAN THICKNESS DATASET? mdllcb 

N DATEllG MDIICS **  W R * * f l t *  I***** 

1 5/1/87 916.79 
2 8/1/87 953.64 
3 9/10/87 915.71 
4 7/12/88 906.05 

6 6/26/89 876.75 
7 3/13/89 890.71 
8 2/8/90 869 

s io/o8/aa 897 

9 4 / 2 4 / 9 0  8 6 3 . 2 9  
10 3/4/91 6 5 7 . 5 4  

ENTER NO. OF DESIREO DATA ints(1,lO) 
ENTER DATE OF hifNIYUM THICKNESS ( X O )  6 /29 /94  

BAY DATES 
I******* ***.I**. 

11C BOT7 5/1/87 
8/1/87 
9/io/a7 
7/12/88 
I o / m  88 
6/26/89 
9/13/89 
2/8/90 
4/24/90 
3/4/91 

X 
***I**** 

0 
.252055 
* 361644 
1.2 
1.4411 
2.1561 6 
2.3726 
2.77808 
2.98356 
3.84384 

Y 
~ t i w r t  

916.79 
953.64 
915.71 
906.05  
897 
8 7 6 . 7 5  
890.71 
869 
863.29 
857.54 

XO = 6/29/94 

YL90 YOHAT YU90 T 9 S  
**I.*** ****I** ****.** ******I 

747.324 781.458 8is.593 1 . 8 5 9 ~  

F-RATIO = 11.561 

WHEREAS AN F-RATIO OF 1.0 OR GREATER PROVIDES CONFIDENCE 

F-RATIO SHOULD BE 4 OR 5 I F  THE REGRESSION EQUATION IS TO 
I N  THE SLOPE AND INTERCEPT OF THE HSSTORIGAL DATA, THE 

BE USED TO PREDICT FUTURE VALUES. TO HAVE A HIGH DEGREE OF 
CONFIDENCE IN THE PREDICTED VALUE, THE RATIO SHOULD BE A T  
LEAST 8 OR 9. 

A p r i l  IO, 1991 
2 : 4 1  PM 



PROGRAM: LINPREDY 
BAY NUMBER? 136 all p t s  
ENTER NAME OF DATE LIST date13a 
NAME OF MEAN THICKNESS OATASET? mdl3a 

N DATElBA MUl3A 
t .(IX*** 

1 11/15/86 919 .08  
2 1 2 / 1 7 / 8 8  905.27 
3 6 /26 /89  882.84  
4 9 /13 /89  882.98 
5 2 / 8 / 9 0  859.04 
6 3 / 2 8 / 9 0  852.84 
7 4/24 /90  855.63 
8 2/23/91 0 5 4 . 5 1  

ENTER NO. OF DESIRED OAtA i n t s ( 2 , 8 )  
ENTER DATE OF MXNIMUM THICKNESS (XO) 6/29/94 

BAY DATES 

1 3 A  ALL 12/17/88 
* * * . a * *  *****I** 

6 / 2 6 / 8 9  
9 /13 /89  
2 / 8 / 9 0  

4/24/90 
2 / 2 3 / 9 1  

3/za/90 

X Y 
* n n * * z n *  I I I X ~ B  

0 905.27 
-523288 882.64 

1.14521 859.06 
I .  27671 852.84 

739726 882 .98  

1 35068 855 v 63 
2.1863 854.51 

WHEREAS AN F-RATIO OF 1.0 OR GREATER PROVIDES CONFfDENCE 
I# THE SLOPE AND INTERCEPT OF THE HISTDRTCAIL DATA. TUF 
F-RATIO SHOULD BE 4 OR s IF THE REGRESSION.'EQUATI~N.XS TO 

LEAST a OR 9. 

BE USED TO PREDfCT FUTURE VALUES. TO HAVE A HIGH DEGREE OF 
CONFIDENCE IN THE PREDICTED VALUE, THE RATIO SHOULD BE AT 

April 10, 1991 
2:41 PM 



PROGRAM: LINPREDY 
BAY NUMBER? 13a pts < 1100 
ENTER NAME OF DATE LIST datel3a 
NAME OF MEAN THICKNESS DATASET? mfl3a 

N DATE13A 

1 11 /15 /86  
2 12/17/88 

4 9/13/89 

n * n * ~ n * ~ t  

3 6 /26 /89  

s z /a /ga 
6 3/28/90 
7 4 / 2 4 / 9 0  
8 2/23/91 

MF13A 
t t t t * X  

919.08 
895.94 
882.84 
882.98 
859.04 
852.64 
855.63 
848. a i  

ENTER NO. OF DESIRE0 DATA i n t s ( 2 , 8 )  
ENTER DATE OF MINIMUM THICKNESS ( X O )  6 /29 /94  

BAY DATES 

13A PTS 12/17/88 
%XI**** * ~ * w n * * t  

6 )  26 I89 
9 /13 /89  
2 / 8 / 9 0  
3 ~ 2 ~ 9 0  
4 /24 /90  
2 /23 /91  

X Y 
* ~ * n n ~ m t  a n t x n r  

0 895.94 

.739726 882.98 
1.14521 859.04 
1.27671 852.84 
1.35068 855.63 
2.1863 8 4 8 . 8 1  

.sz32sa 882. a4 

X O  = 6/29/94 
YL90 YOHAT YU90 195 

716.266 757.771 799.275 2.01504 
n * * n r n *  ***a*** r * n t i l l ~ * i  r t t t t e r  

F-RATIO = 7.23735 

WHEREAS AN F-RATTO OF 1.0 OR GREATER PROVIDES CONFIDENCE 

F-RATIO SHOULD BE 4 OR 5 IF THE REGRESSION EOUATION 'IS TO 
IN THE SLOPE AND INTERCEPT OF THE HfSTORICAL DATA, THE 

BE USED TO PREDICT FUTURE VALUES. TO HAVE A HIGH DEGREE OF 
CONFIDENCE IN THE PREDICTED VALUE, THE RATIO SHOULO BE AT 
LEAST 8 OR 9 .  

A p r i l  10, 1991 
2:42 PM 



PROGRAM: LINPREDY 
BAY NUMBER? 17a bottom 4 
ENTER NAME OF DATE L I S T  datel7a 
NAME OF MEAN THICKNESS DATASET? mdl7ab 

N DATEl7A 

1 1 2 / 1 7 / 8 8  
2 6 / 2 6 / 6 9  
3 9 / 1 3 / 8 9  
4 2/8 /9D 
5 4/24/90 
6 2 / 2 3 / 9 1  

* ******.I* 
MDl7A6 

957.36 
9 6 4 . 5  
955.18  
9 3 7 . 5  
9 3 9 . 6 1  
934.71 

****.I* 

ENTER N O .  OF DESIRED DATA ints(l,6) 
ENTER DATE O f  MINIMUM THXCKNESS ( X O )  6 /29 /94  

BAY DATES 
t w n ~ u * t *  f ~ t t * * w ~  

17A BOTT 1 2 / 1 7 / 8 8  
6/2s/a9 
9/13/89 
2 / 8 / 9 0  
4 / 2 4 / 9 0  
2 / 2 3 / 9 1  

X Y 
* * * t w n r t  

0 9 5 7 . 3 6  

* 739726 955.18  

1 35068 9 3 9 . 6 1  

.523288 964.5 

1 . 1 8 5 2 1  9 3 7 . 5  

2.1863 9 3 4 . 7 1  

XO 6 /29 /94  

YL90 YOHAT YU90 T95 
t t * w * t n  * * r m 8 n n  t * n x * n t  ***et** 

841.788 8 8 5 - 3 7 1  928.953 2 .13182 

F-RATIO = 2.12222 

WHEREAS AN F-RATIO OF 1.0 OR GREATER PROVIDES CCJNFTnENI3F - -  --... ---..-- 
IN THE SLOPE AND-INTERCEPT OF-TGE HISTORZCAL DATA, THE 
F-RATIO SHOULD BE 4 OR 5 IF TUE REGRESSION EQUATION rs TO 
BE USED TO PREUICT FUTURE VALUES. TO HAVE A HIBH DEGREE OF 
CONFIDENCE I N  THE PREDICTED VALUE, THE RATIO SHOULD BE AT 
LEAST 8 OR 9. 

April 1 0 ,  1991 
2:43 PM 



PROBRAM: LINPREDY 
BAY NUMBER? 17d  
ENTER NAME O f  DATE LIST datel7d 
NAME OF MEAN THICKNESS RATASET? mel7d 

N 

1 
2 
3 
4 
5 
6 
7 
8 
9 

10 
11 
I2 

* *  DATE 170 
* * * * * n e *  

12/2/86 
21 17/87 
5/1/87 
8/1/87 
91 10187 
7/12/88 
10/08/88 
6/  2 6/ 8 9 
9/13/89 
2/B/90 
4/24 /90  
21 231 91 

ME17D 

903.51 

8 9 5 . 0 7  
890.69 
895.28 
877.93 
862.22 
856.84 
847.13 
833.37 
826.8 
825.27 

***It** 

922.16 

ENTER NO. OF DESIRED DATA ints(2,12) 
ENTER DATE OF MINIMUM THICKNESS ( X O )  6/29/94 

BAY DATES 

I70 2/17/87 
* * *  * l X * X * * *  

5/1/87 
8f 1 /87 
9/10/87 
7/12/88 
10/08/88 

9 /  13/89 

4/24/90 
2/23/91 

6)26/ag 

2/a/90 

x Y 
* * * a * * * *  ***I** 

0 922.16 
. 2  895.07 
.452055 890.69 
.561644 895.28 

1.4  877.93 

2.356IS 856.84 
1.6411 862.22 

2.5726 847.13 
2.97808 833.37 
3.18356 826.8 
4.01918 825.27 

XQ = 6 /29 /94  

YL90 YOHAT YU90 T95 

718.035 737.844 757.653 1.83311 
* * * * = X I  n * * n * * *  * * n n n * *  * t * * ~ * *  

F-RATIO = 44.5138 

WHEREAS AN F-RATIO OF 1.0 OR GREATER PROVIDES CONFIDENCE 

F-RATIO SHOULD BE 4 OR 5 IF THE REGRESSION EPUATION IS TO 
IN THE SLOPE AND INTERCEPT OF THE HISTORICAL DATAI THE 

BE USE0 TO PREDICT FUTURE VALUES. TO HAVE A HIGH DEGREE OF 
CONFIDENCE IN THE PREDICTED VALUE, THE RATIO SHOULD BE AT 
LEAST 8 OR 9 .  

Apri l  10, 1991 
2:43 PM 



PROGRAM: LINPREUY 
BAY NUMBER? 19a 
ENTER NAME OF DATE L I S T  datcl9a 
NAME OF MEAN THICKNESS DATASET? me19a 

N 

1 
2 
3 
4 
5 
6 
7 
8 
9 

10 
11 
12 

* *  OATEIPA 
t t* e*** 

12 /2 /86  

5 / 1 / 8 7  
8 /  1 /87 
9 / 1 0 / 8 7  
71  12/88  
10/08/88 

21 17/87 

6 /26 1. a 9 
w i w a 9  
2/8/90 
41 24 190 
2/23/91  

ME1 9 A  

870.22 
883.64  
872.93 

858.29 
848.57 
836 .91  
828 .82  

807 78 
807.8 
816.67 

*****I 

858.6 

825.36 

ENTER NO. OF DESIRED DATA ints(2.12) 
ENTER DATE OF MINXMUM THICKNESS ( X O )  6 /29 /94  

BAY DATES 

19A 2 / 1 7 / 8 7  
* * x  * * * * * * I *  

5 / 1 / 8 7  
8 / 1 / 8 7  
9 / 1 0 / 8 7  
7 /12 /88  
1 0 / 0 8 / 8 8  

9 /13 /89  
2/8/90 
4 /24 /90  
2 /23 /91  

6/26/a9 

XO = 6 /29 /94  

X 
X * * X X * U *  

0 
. 2  
.452055 
-561644 

1.4 
1.6411 
2.35616 
2.5726 

3.18356 
4 .01918 

2-  97808 

Y 

883.64 
872.93 
858.6  
858.29  
846.57 
836.91 
828.82 
625.36 
807.78 
807.8  
826.67 

* * * * * *  

YL90 YOHAT YU90 f 9 5  

717.797 739 .152  760.506 1.83311 
* * n u n * *  * = m ' ~ * n *  n * u n n x n  * * * t l w w  

F - R A T I O  23 .7199  

WHEREAS AN F-RATIO OF 1 . 0  OR GREATER PROVIDES CONFrDENCE 
IN THE SLOPE AND INTERCEPT OF THE HISTORICAL DATA, THE 

BE USED TO PREDICT FUTURE VALUES. TO HAVE A HIGH DEGREE OF 
CONFIDENCE I N  THE PREDICTED VALUE, THE R A T I O  SHOULD BE AT 
LEAST 8 OR 9. 

F-RATIO SHOULD BE 4 OR 5 IF THE REGRESSION EQUATION IS TO 

A p r i l  10, 1991 
2 : 4 4  PM 



PROGRAM: LINPREDY 
BAY NUMBER? 19b 
ENTER NAME OF DATE LIST datel9b 
NAME OF MEAN THICKNESS DATASLT? mdl9b 

N 

1 
2 
3 
4 
5 
6 
7 
8 
9 

10 
11 

v n  
PATE1 9% 

n * * n * n n .  

12 /2 /86  
5 /1 /87  

9 / 1 0 / 8 7  

10/08/88 
61 26 189 
91 13/89 
2/8/90 
4 / 2 4 / 9 0  
2 /23 /91  

8 / 1 / 8 7  

71 12 /88  

Id0 19% 

880.84  
8 9 7 . 6 3  

887.6 
863 .98  
856,41  
852.55 
854.94  

8 3 9 . 1  
852.53 

t * n t n t  

892 21 

840.67 

ENTER NO. OF DESIRED DATA ints(2,Xl) 
ENTER DATE OF MINIMUM THICKNESS (XO)  6 /29/94 

BAY DATES 
n * n  n n * * t n * a  

19B 5 / 1 / 8 7  
8 /1 /87  

7 /12 /88  

6 / 2 6 / 8 9  
9 / 1 3 / 8 9  

4 / 2 4 / 9 0  
2 / 2 3 / 9 1  

9/io/a7 

10/08/8a 

2/8/90 

X Y 

* 252055 8 9 2 . 2 1  
-361644 887.6 

1 . 2  863 98 
1 . 4 4 1 1  856.41 

n n r . * * * n n  ~ m a * t a  

0 897.63 

2.15616 852.55 
2.3726 854.94 
2 .77808 840.67 
2 .98356 839.1  
3.81918 852.53 

WHEREAS AN F - R A T I O  OF 1.0 OR DREAfER PROVIDES CONFIDENCE 

F-RATIO SHOULD 3E: 4 OR 5 IF THE REGRESSION EQUATION IS TO 

CONFIDENCE IN THE PREDICTED VALUEt THE RATIO SHOULD BE AT 

IN THE SLOPE AND INTERCEPT OF THE HZSTORICAL DATA, 

BE USED TO PREDICT FUTURE VALUES. 

THE 

TO HAVE A HIQU DEGREE OF 

LEAST a OR 9. 

A p r i l  10. 1991 
2 1 4 4  PM 



PROGRAMt LINPREDY 
BAY NUMBER? 19C 
ENTER NAME OF DATE L I S T  datel9c 
NAME OF MEAN THICKNESS DATASET? mel9c 

N 

1 
2 
3 
4 
5 
6 
7 
8 
9 
10 
1 1  

nn 
DATE1 9C 

X * * * * * * *  

121 2 /86  
5 / 1 / 8 7  

9 /10 /67  
71 12/88 
10 / 0 8 /  88 
6 /26 /89  
91 13/89 
2 / 8 / 9 0  
4 /24 /90  
2/23/91 

a /  1/87 

ME19C 

866 .02  
900.51 

888.31 
873.46 
855.27 
845 
844.7 
830.51 
822.52 

* * W X W R  

8a8.16 

842. B 

ENTER NO. OF DESIRED DATA ints(2,ll) 
ENTER DATE OF MINIMUM THICKNESS ( X O )  6/29/94 

BAY DATES 
* t w  I * * I I ~ * *  
19c 5/1/87 

8 1  1187 
9 / 1 0 / 8 7  
7/12/88 
10/08/88 
6/26/89 
9/13/89 

4 1  24/90 
2/ 23/91 

2 /8 /90  

X Y 
L W * R * * I X  t l X R * I  

0 900.51 
,252055 888.16 

1 . 2  873.46 
1.4411 856.27 
2.15616 845 
2.3726 844.7 

2.98356 822.52 
3.81918 842.8 

- 3 6 1 6 4 4  888.31 

2.77808 830.51 

XO = 6/29/94 
YL90 YOHAT YU90 195 

* w v t w * * *  n n * f i * *  a * x w n  w x * * a t *  

725.988 755-794 785-6 1.85955 

F-RATIO = 12.6557 

WHEREAS AN f-RATIO OF 1 . 0  OR GREATER PROVIDES CONFIDENCE 

F-RATIO SHOULD BE 4 OR 5 I F  THE RE(3RESSION EQUATION IS 
I N  THE SLOPE AND INTERCEPT OF THE HISTORICAL DATA, THE 

BE USED TO PREDXCT FUTURE VALUES. 
CONFIDENCE IN THE PREDICTED VALUE, THE RATIO SHOULD BE AT 
LEAST 8 08 9. 

TO 
TO HAVE A HIGH DEGREE OF 

A p r i l  10, 1991 
2 : 4 5  PM 



PROaIRAM: LINPREDY 
B A Y  NUMBER? 9 d  
ENTER NAME OF DATE L I S T  date9d 
NAME OF MEAN THICKNESS DATASET? md9d 

N DATE90 YD9D 

1 12/4/86 1071.51 
2 12/19/88 1021.39 
3 6 /26 /89  1054.42 
4 9 /13 /89  1020.43 
5 2 / 8 / 9 0  1009.96 
6 4/2b/90 1002.12 
7 2/23/91 9 9 2 . 5 5  

I * t u * * * * *  w * * t * * *  

ENTER NO. OF DESIRED DATA ints(4,7) 
ENTER DATE OF MXNIYUhl THICKNESS ( X O )  7 /15 /93  

BAY OATES X Y 

9~ 9 / 1 3 / a 9  o 1020.43 

4/24/90 .610959 1002.12 
2/23/91 1 . 4 4 6 5 8  9 9 2 . 5 5  

I** * w i n * r . t  n * ~ t * * * t  ***-I** 

2 / 8 / 9 0  .405479 ino9.9s 

x0 = 7 / 1 5 / 9 3  

YL90 YOHAT YU90 T95 
t i u * * * i  X I * * * * *  * * - n ~ l r *  *#****I 
911.856 945.862 979.868 2.91999 

F-RATIO = 3.23969 

WHEREAS A N  F-RATIO OF 1 . 0  OR GREATER PROVfDES t?CINFT’DFhlPIF - . . ----- --... ---..-- 
I N  THE SLOPE A h 6  INTERCEPT- OF-THE HISTORICAL DATA, THE 
F-RATIO SHOULD BE 4 OR 5 IF THE REGRESSION EQUATION IS TO 
BE USED TO PREDICT FUTURE VALUES. TO UAVE A H I G H  OEiiRFf-nF -. 
CONFIDENCE IN THE PREDICTED VALUE, THE RATIO SHOULD BE AT 
LEAST a OR 9. 

A p r i l  9 ,  1991 
4 : 4 a  PA( 



PROGRAM: LINPREDY 
BAY NUMBER? I l a  
ENTER NAME OF DATE L I S T  Uatella 
NAME OF MEAN THICKNESS DATASET? m e l l a  

N 

1 
2 
3 
4 
5 
6 
7 
8 
9 

10 
11 
12 

*t 
DATEllA 

w * * l l * * . l *  

1 2 / 2 / 8 6  

51 1/87 
8 /1 /87  

4 /29 /a7  

6 / 2 6 / 6 9  
9 /13 /89  
2/8/30 
4 / 2 4 / 9 0  
2123/91 

MEllA 

891.47 
918.66 
904.64  
922.09 
905.2  
912.97 

881.34 
891.56 
875.34 
858,04 

**=I*** 

8 8 8 . 2 2  

(144. sa 
ENTER NO. OF DESIRED DATA ints(2,12) 
ENTER DATE OF MINIMUM THICKNESS ( X O )  7 /15 /93  

BAY DATES 
n - *  * . r n * * * * *  

I ~ A  a /29 /87  
5 /1 /87  
8 / 1 / 8 7  
9 /10 /87  
71 12/88 
f0/08/88 
6 / 2 6 /  89 
9 / 1 3 / 8 9  
2/8/90 
4 1  2 4 t  90 
2 / 2 3 / 9 1  

X 
w w * * * r ~ n * *  

0 
00547945 - 257534 
,367 123 

1.20548 

2 .16164 
2.37808 

2.98904 
3.82466 

1 * 44658 

2.78356 

Y 
* R t X * *  

918.66 
904.64 
922 - 09 
905 t 2 
912.97 
888.22 
8 8 1 . 3 4  
891.56 
875 - 34 
858.04 
8 4 4 . 5 6  

XO = 7 /15 /93  

YL90 YOHAT YU90 T95 
t r w t * * i  * * m i *  n * * * I * n  ***a**# 

790.303 811.5 832.697 1.83311 

F-RATIO = 15.1838 

WHEREAS AN F-RATIO OF 
I N  THE SLOPE AND INTERCEPT OF THE HISTORICAL DATA, THE 
F-RATIO SHOULD BE 4 OR 5 I F  THE REGRESSION EQUATION IS TO 

CONFIDENCE IN THE PREDICTED VALUE, THE RATIO SHOULD BE AT 
LEAST 8 OR 9 .  

1 . 0  OR GREATER PROVIDES CONFIDENCE 

BE USED TO PREDICT FUTURE VALUES, TO H A V E  A HIGH DEGREE OF 

A p r i l  9 ,  1991 
4 : 4 9  PM 



PROGRAM: LINPREOY 
BAY NUMBER? l l c  top 3 
ENTER NAME OF DATE LIST datellc 
NAME OF MEAN THICKNESS DATASET? mdllct 

N 

1 
2 
3 
4 
5 
6 
7 
8 
9 

10 

* *  DATE1 IC 

511 187 
8/1/87 ' 

9 / 1 0 / 8 7  
7 /  12/88  
10 / 08 / 8 8  
61 26/89  
9 /13 /89  
2 /6 /90  
4 / 2 4 / 9 0  
3 / 4 / 9 1  

* * * * * * * =  MDllCt  *****.* 
1046 
1108.6 
1079.12 
1045 6 38 
1008 .86  
1015.78 
1005 

978.45 
974 .9  
981.68 

ENTER NO. OF DESIRED DATA i n t s ( 1 , l O )  
ENTER DATE OF MINIMUM THXCKNESS ( X O )  7 /15/93 

B A Y  UATES 
****l** w * * * * w * *  

13C TOP 5 / 1 / 8 7  
8 /  i /a7  

9 / 1 3 / 8 9  
2 f  8/90 
4 / 2 4 / 9 0  
3 / 4 / 9 1  

X Y 

0 I046 
-***.*** I****** 

. 252055  1106.6 

.361644 1079.12 

1 .441  1 1006.85 
2.15616 1015.78 

1.2 f 045 4 38 

_ _ _ _  . _  
2.3726 1005 
2.77808 978.45  
2 . 9 8 3 5 6  9 7 4 . 9  
3.84384 981 e68 

xo = 7 / 1 5 / 9 3  

Yt90 YOHAT YU90 T95 

838.389 888.565 938.741 1.85955 
C X * * W = *  *a**-** * * * * = w *  =t***..,t 

F - R A T I O  = 7.88116 

WHEREAS AN F-RATIO OF 1.0 OR GREATER PROVIDES CONFIDENCE 
XN THE SLOPE AND INTERCEPT OF THE HISTORICAL DATA, 

CONFIDENCE IN THE PREDICTED VALUE. THE R A T I O  SHOULD BE AT 
LEAST 8 OR 9 .  

THE 
F-RATIO SHOULD BE 4 aR 5 IF THE REBRESSION EQUATION IS TO 
BE USED TO PREDICT FUTURE VALUES. TO HAVE A H I G H  DEGREE OF 

A p r i l  9 ,  1991 
4:51 PM 

9 
s. 
2 
J 

0 
'I 

!$ 



PROGRAM: LINPRERY 
BAY NUMBER? l l c  b o t t o m  4 
ENTER NAME OF DATE LIST d a t e i l c  
NAME OF MEAN THXCKNESS DATASET? mdl lcb  

N DATEllC MDllCB 
x *  * * e * * * * *  * * X I * *  

I s i i a 7  916.79 
2 8/1/87 953.64 
3 9 /10 /87  915.71 
4 7 /12 /88  906.05  
5 10/08/88 897 
6 6 /26 /89  876.75 
7 9 /13 /89  890.71  
8 2 / 8 / 9 0  869 
9 4 / 2 4 / 9 0  863.29 

10 3 / 4 / 9 1  057.54 

ENTER NO. OF DESIRE0 DATA ints(1,lO) 
ENTER DATE OF MINIMUM THICKNESS ( X O )  7 /15/93 

BAY DATES X Y 
* * * * a * * *  *****.I** * * f * * * * r  *.e*** 

11C BOT1 5 /1 /87  0 916.79  
8 /1 /87  . 2 5 2 0 5 5  953.64 
9/10/87 -361644 . 915.71 

10/08/00 1 , 4 4 1 1  897 
6 / 2 6 / 8 9  2.15616 876.75 
9 / 1 3 / 8 9  2 .3726 890.71 

4 / 2 4 / 9 0  2 .98356 863.29  
3 / 4 / 9 1  3.84384 857.54 

7/12/88 1 .2  906 * 05 

2 /8 /90  2.77808 869 

xo 7 /15 /93  

YL90 YOHAT YU90 T95 **I***= *e****- a****** *I****. 

772.951 801.396 829.842 1.85955 

F-RATIO = 11.561 

WHEREAS AN F-RATIO OF 

F - R A T I O  SHOULD BE 4 OR 5 IF THE REQRESSXON EQUATION IS TO 

1 . 0  OR RREATER PROVIDES CONFIDENCE 
IN THE SLOPE AND INTERCEPT OF THE HISTORICAL DATA, THE 

BE USED TO PREDICT FUTURE VALUES. TO HAVE A HIGH DEGREE OF 
CONFIDENCE IN THE PREDICTED VALUE, THE RATIO SHOULD BE AT 
LEAST 8 OR 9. 

A p r i l  9 ,  1991 
4:52  PU 



-- 

PROGRAM: LXNPREDY 
BAY NUMBER? 13a a l l  pts 
ENTER NAME O f  DATE LIST datclja 
NAME OF MEAN THICKNESS DATASET? mdl3a 

N DATElBA 

1 11/15/86 
2 12/17/88 
3 6/26 /89  
4 9/13/89 
5 2/8/90 

7 4 /24 /90  
8 2/23/91 

n * t r ~ t * * *  

6 3/28/90 

MDl3A 
*****I 

919.08 

882 * 84 
305.27  

882.98 
859.04 
852.84 
855 63 
854 51 

ENTER NO. OF DESIRED DATA ints(2.8) 
ENTER DATE OF MINXMUM THlCKNESS ( X O )  7 /15/93 

BAY DATES 

13A ALL 12/17/88 
* n e * * * *  * . *X I * * * *  

6/26/89 
9/13/89 
2/8/90 

4/24/90 
2/23/91 

3/28/90 

X 
ne****.* 

0 
523288 

.739726 
1 + 14521 
1 27671 
I .  35058 
2,1863 

Y 
* w n * n . *  

905.27 
882.84 
882.98 
859.04  
852 * 84 
855.63 
854,  si 

xo = 7/15 /93  

YL90 YOHAT YU90 1 9 5  
* a * w * * n  * i * t * ~ . t  a * = t t a *  * f * ~ t n *  

736.007 779.687 823.366 2.Dl504 

F-RATIO = 4.46033 

WHEREAS AN F-RATIO OF 1.0 OR GREATER PROVIDES CONFIDENCE 

F-RATIO SHOULD BE 4 OR 5 I F  THE REGRESSION EQUATION IS TO 
BE USED TO PREDICT FUTURE VALUES. 

IN THE SLOPE AND XNTERCEPT QF THE HISTORICAL DATA, THE 

CONFIDENCE I N  THE PREDICTED VALUE, THE R A T I O  SHOULD BE AT 
LEAST 8 OR 9. 

TO HAVE A HIGH OEGREE OF 

A p r i l  9 ,  1991 
5:03 PM 



- -  

PROGRAM: LfNPREDY 
BAY NUMBER? 13a p t s  1100 
ENTER NAME OF DATE LIST d a t e l 3 a  
NAME OF MEAN THICKNESS DATASET? mf l3a  

N 

1 
2 
3 
4 
5 
6 
7 
8 

* DATE 13A 

11 /15 /86  
12 /17 /88  
6 / 2 6 / 8 9  
9 /13 /89  
2 /8 /90  
3 /28 /90  

212319 1 

r x X * * t f i  

4 24/90 

MF 1 3 A  

919.08 
8 9 5 . 9 4  
882.84 
882.98 
659.04 
852.04 
855.63 
848.81 

t T l t * * r  

ENTER NO. OF DESIRED DATA ints(2,8> 
ENTER DATE OF MXNIMUM THXCKNESS ( X O )  7 /15 /93  

BAY DATES X 
'.I***.* r n * * r i n *  ~ * * t * t * *  

13A PTS 12 /17 /88  0 
6/26/89 -523288 
9 /13 /89  ,739726 
2/8/90 1.14521 
W 2 0 f  90 1.27671 
4 /24 /90  1 .35068  
2 /23 /91  2.'1863 

Y 

895.94 

882.98 
859.04 

*.*r** 

882-  84 

852.84  
$55.63 
848.81 

XO = 7/15 /93  

Y 1 9 0  YOHAT YU90 T95 

748.351 781.242 814.133 2.01504 
*****.I* L X ~ * * I I  * * a x * * *  * i * % n * *  

F-RATIO 7.23735 

WHEREAS AN F-RATIQ OF 1.0  OR GREATER PROVIDES CONFIDENCE 

F-RATIO SHOULD BE 4 OR 5 IF THE REGRESSION EQUATION IS TO 
IN THE SLOPE AND INTERCEPT OF THE HISTORICAL DATA, THE 

BE USED TO PREDICT FUTURE VALUES. TO HAVE A HIGH DEGREE OF 
CONFIDENCE I N  THE PREC)fCTED VALUE, THE RATIO SHOULD BE AT 
LEAST 8 OR 9 .  

A p r i l  9 ,  1991 
5:os Pbd 

- 
r 
P 
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B i  



PROGRAM: LINPREDY 
BAY NUMBER? 17a b o t t o m  4 
ENTER NAME OF DATE L I S T  d a t e l 7 a  
NAME OF MEAN THICKNESS DATASET? mdl7ab 

N OATE17A 
n t * t t s w * a  

1 1 2 / 1 7 / 8 8  
2 6 / 2 6 / 8 9  
3 9 /13 /89  
4 2 / 8 / 9 0  
S 4/26/90 
6 2 /23 /91  

MD I 7AB 
n t f n s *  

957.36 
9 6 4 . 5  
9 5 5 .  I8 
937.5 
939.61 
934.71  

ENTER NO. OF DESIRED DATA int9(1,6) 
ENYER DATE OF MINIMUM THICKNESS ( X O )  7/15/93 

BAY DATES 
8 n w * t t * *  a * * * t s n a  

17A BOTT 12/17/88 
6 / 2 6 / 8 9  

2 / 8 / 9 0  
4 / 2 4 / 9 0  
2 /23 /91  

9/13/89 

X Y 
'~rtn*na.n ***=L\* 

0 957 36 
523288 9 6 4 . 5  

1.1452L 9 3 7 . 5  

2 .  I863 934.71 

-739726 955.18 

1.35066 939.61 

WHEREAS AN F-RATIO OF 1.0 OR GREATER PROVIDES CONFIDENCE 

F-RATIO SHOULD BE 4 OR 5 I F  THE REGRESSION EQUATION I S  TO 

CONFXPENCE: IN THE PREDICTED VALUE, THE RATIO SHOULD BE AT 

IN THE SLOPE AND INTERCEPT OF THE HISTORICAL DATA, THE 

BE USED TO PREDICT FUTURE VALUES. 

LEAST 8 OR 9. 

TO HAVE A HIGH DEGREE OF 

A p r i l  9. 1991 
5 : 0 6  P M  

M 



PROGRAM : LINPREDY 
BAY NUMBER;, i 7 d -  
ENTER NAME OF DATE LIST d a t e l 7 d  
NAME OF MEAN THXCKNESS OATASET? mel7d 

N 

1 
.'I 

2 
3 

10 
11 
12 

DATE1 7D 
t a t n r w w l t  

12 /2 /86  
2 / 1 7 / 0 7  
5/1/87 
8/1/87 
9 /10 /87  
7 / 1 2 / 8 8  

6 / 2 6 / 8 9  
91 1 3 / 8 9  

4 / 2 6 / 9 0  
2 /23 /91  

i o / o a / 8 a  

2 / a / 9 0  

ME1 7D 
903.51 
* * * t i *  

922. I 6  
895.07 
8 9 0 . 6 9  
895.28 
877 .93  

8 5 6 . 8 4  
847 .13  

862 .22  

833 37 
8 2 6 . 8  
825 27 

ENTER NO. OF DESIRED DATA intst2.12) 
ENTER DATE OF MINIMUM THICKNESS (XO)  7/15/93 

BAY DATES 

170 2 /17 /87  
a * *  *I****-* 

5/1/87 
8 / 1 / 8 7  
9/ 101 87 
7/12/88 
I0/08/88 
6 / 2 6 / 8 9  
9/13/89 
2 / 8 / 9 0  
4 / 2 4 / 9 0  
2 /23 /91  

XO = 7/15/93 

X 
. L . R * * * * 1 1  

0 
- 2  
.452055 
+ 561644 

1 . 4  
1.6411 
2.3s6I6 
2 . 5 7 2 6  
2 . 9 7 8 0 8  
3 .  I8356 
4.01918 

Y 
n e * * * *  

922.16  
895 + 07 
890.69 
895.28 
877.93 
862.22 
856.84 
847.13 
8 3 3 . 3 7  
826.8 
825.27 

YL90 YOHAT YU90 T35 
n ~ t ~ t i .  ~ X I I X X ~  n L t t w a * t  r t m n t t x ~  

743.186 7 5 9 . 8 0 4  776.423 1 -83311  

F - R A T I O  = 44.5138 

WHEREAS AN F-RATIO OF 1 . 0  OR GREATER PROVIDES CONFIDENCE 
IN THE SLOPE AND INTERCEPT OF THE HISTORICAL DATA, 

BE USED TO PREDICT FUTURE VALUES. 
CONFIDENCE I N  THE PREDICTED VALUE, THE R A T I O  SHOULD BE AT 
LEAST 8 OR 9. 

THE 
F-RATIO SHOULD BE 4 OR S IF THE REGRESSION EQUATION IS TO 

TO HAVE A HIQH DEGREE OF 

A p r i l  9, 1991 
5 t 0 7  PM 



PROQRAM: LINPREDY 
BAY NUMBER? 19a 
ENTER NAME OF DATE LIST datel9a 
NAME OF MEAN THICKNESS DATASET? mel9a 

N DATElOA MElSA 

1 1 2 / 2 / 8 6  870.22 
2 2 /17/87 883.64  
3 5 / 1 / 8 7  872.93 

5 9/10/87 858.29  
6 7 / 1 2 / 8 0  840.57  
7 10/08/88 836.91 
8 6 /26 /83  828.82 
9 9/13/89 825.36 

10 2 / 8 / 9 0  807.78 
11 4/24/90 807.8 
12 2/23/91 816.67 

8 .  * 2 1 1 S t t *  *at*** 

4 8 / 1 / 6 7  858.6  

ENTER NO. OF DESIRED DATA Lnta(2,lZ) 
ENTER DATE OF MINIMUM THICKNESS ( X O )  7/15/93 

BAY DATES X Y 
L I ~ *  * a * n * * f a  * ~ i * * t * ~  ***I** 

19A 2 / 1 7 / 8 7  0 883 .64  
s / i i a r  . 2  872 93 
8 / 1 / 8 7  .452055 858.6  
9 / 1 0 / 8 7  .561644 858.29 

, 7/12/aa 1 . 4  848.57 

6 / 2 6 / 8 9  2.35616 828.82 
9/13/89 2 .9726 825.36 

4 / 2 4 / 9 0  3.18356 807.8 
2 / 2 3 / 9 1  4.01918 816+67 

10/08 /88  1 .6411 836.91 

2 /8 /90  2.97808 807- 78 

xo = 7/L5/93 
Y t 9 0  YOHAT YU90 T9S 

w % t * ~ = m  **t i .**  - a * * * * *  . ~ t q i * t *  

738.518 756.433 774.349 3.83311 

F-RATIO = 23.7199 

WHEREAS A N  F-RATIO OF 1.0 OR GREATER PROVIDES CONFIDENCE 

F-RATIO SHOULD BE 4 OR 5 IF THE RERRESSION EQUATION IS TO 
IN THE SLOPE AND INTERCEPT OF THE HISTORICAL DATA, THE 

BE USED TO PREDICT FUTURE VALUES. TO HAVE A HSGH OEGREE OF 
CONFIDENCE IN THE PREDICTED VALUE, THE RATIO SHOULD BE AT 
LEAST 8 OR 9 .  

April 9 .  1991 
S : O 9  Ptd 
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PROGRAM: LINPR6DY 
BAY NUMBER? 19b 
ENTER NAME O F  DATE L IST  datel9b 
NAME OF MEAN THICKNESS DATASET? mdl9b  

N 

1 
2 
3 
4 
5 
6 
7 
8 
9 

10 
11 

n*  
DATElYB 

f i * * * n ~ t  

12/2/86 
5 / 1 / 8 7  
8 1  I /87  
9 /10 /87  
7 /  12/88 

6 /26 /89  
9 / 1 3 / 8 9  

4 / 2 4 / 9 Q  
2/23/91 

ro/oa/a8 

wa190 

MDl98 

880.84 
897.63 

881.6  
863.98 
856 .41  
852.55 
854 * 94 
840.67 
839.1 

n t * * t e  

892.21  

asz. 53 

ENTER NO. OF DESIRED D A f A  ints(2,lI) 
ENTER DATE OF MfNIYUM THLCKNESS ( X O )  7115193 

B A Y  DATES 

19B 5 / 1 / 8 7  
811 187 
9 / 1 0 / 6 7  
7 f  12/88 
10/08/88 

91 13/89 
2 / 8 / 9 0  
4 / 2 4  190 
2/23 /91  

x * *  t i * * * = * *  

6 m v a 9  

X 
I******)** 

0 

1.2  
1.4411 
2.15616 
2.3726 

2.98356 

.252055 
361644 

2.77808 

3.81918 

Y 

897.63 
892.21 

863.98 
856.41 
852.55 
854 94  
8 4 0 . 6 7  
839.1 
852.53 

L 1 I . i . f  

887.6 

WHEREAS AN F-RATIO OF 1.0 OR GREATER PROVIDES CONFIDENCE 
IN THE SLOPE AND INTERCEPT OF THE HISTORICAL DATA, THE 
F-RATIO SHOULD BE 4 OR 5 IF THE REGRESSION EQUATION IS T O '  
BE USED TO PREDICT FUTURE VALUES. 
CDNFIDENCE IN THE PREDICTED VALUE, THE R A T I O  SHOULD BE AT 
LEAST 8 OR 9 .  

TO HAVE A HIGH DEGREE OF 

A p r i l  9, 1991 
5:lO PU 
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PROGRAM: LINPREDY 
BAY NUMMBER? 19c 
ENTER NAME OF DATE LIST d a t e l 9 c  
NAME OF MEAN THICKNESS DATASET? mel9c 

N 

1 
2 
3 
4 
5 
6 
7 
8 
9 

10 
11 

n. 
DATE1 9C 

w n * w n n * r  

12 1 2 / 8 6  
S I  1/87 
8 / 1 / 8 7  
91 10/87 
7 1  12/88 
10/08/8B 
6 / 2 6 / 8 9  
9 /13 /89  
2/8/90 
41  241 90 
2/23/91 

ME19C 

866.02 
900.51 
868.16 
888 .31  
873 .46  
856 .27  
845 
8 4 4 . 7  
830.51 
822.52 
8 4 2 . 8  

*"*.I*. 

ENTER NO. OF OESIRED DATA ints(2,ll) 
ENTER DATE OF MINIMUM THICKNESS ( X O )  7 1s 93 

BAY DATES 

19C 5 / 1 / 8 7  
8 / 1 / 8 7  
91 IU/87 
71 121 88 

6 / 2 6 / 0 9  
9 / 1 3 / 8 9  
2 / 8 / 9 0  
4 /24 /90  
21 23/91 

n w t  * w * t t * * * *  

i o / o a / 8 8  

X Y 
R X * * * ~ = T  * * * R x ~  

0 900.51 , 

* 252055 888 .16  
* 361644 888.31 

I rn 441 1 856.27 
2.15616 845 

1 . 2  873 .46  

2.3726 864.7 
2.77808 830.51 
2.98356 822.52 
3.81918 842.8  

WHEREAS AN F-RATIO OF 1 . 0  OR GREATER PROVIDES CONFIDENCE 

F-RATIO SHOULD BE 4 OR 5 IF THE REGRESSION EQUATION IS TO 
IN THE SLOPE AND INTERCEPT OF THE HISTORICAL DATA, THE 
BE USED TO PREDICT FUTURE VALUES. TO HAVE A HIGH DEGREE OF 
CONFIDENCE I N  THE PREDICTED VALUE, THE RATIO SHOULD BE AT 
LEAST 8 OR 9 .  

A p r i l  9. 1991 
5 : 1 1  PM 


